UGC NET 2021 Museology N Conservation

Topic:- 66Mus_A

1) Which of the following organizations aims “to bring together the world’s most influential organizations and top experts in
a combined effort to conserve nature and accelerate the transition to sustainable development.

(1) International Union for Conservation of Nature (IUCN) (2) Museums Association of India (MAI)
(3) Museums Association of U.K. (4) Common Wealth Association of Museums
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[Question ID = 3039][Question Description = Q01_Museology_ SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11619]
2.2

[Option ID = 11620]
3.3

[Option ID = 11621]
4. 4
[Option ID = 11622]
2) CITES is concerned with

(1) protection of cities with classical museums (2) protection of fragile monuments

(3) protection of threatened wildlife species (4) protection of sites
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[Question ID = 3040][Question Description = Q02_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11623]
2. 2 [Option ID = 11624]
3. 3 [Option ID = 11625]
4. 4 [Option ID = 11626]

3) Which of the followings refers to the mission of Museum Association of U.K.?
(1) bring together conservation professionals (2) contribution of the highest achievers of the profession

(3) establishing partnerships with museums (4) inspiring museums to change lives
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[Question ID = 3041][Question Description = Q03_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11627]
2. 2 [Option ID = 11628]
3. 3 [Option ID = 11629]



4. 4 [Option ID = 11630]
4) UNESCO stands for
(1) United Nations Establishment and Support Organization (2) United Nations, Ecological, Sports and Cultural Organization

(3) United Nations Educational, Scientific and Cultural Organization (4) United Nations Experts for Science and Culture
Office
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[Question ID = 3042][Question Description = Q04_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11631]
2. 2 [Option ID = 11632]

3. 3 [Option ID = 11633]
4. 4 [Option ID = 11634]

5) The ICOM first meeting was held in May, 1947 at
(1) Czechoslovakia (2) London

(3) Paris  (4) New York
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[Question ID = 3043][Question Description = Q05_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11635]
2. 2 [Option ID = 11636]
3. 3 [Option ID = 11637]
4. 4 [Option ID = 11638]

6) XR-D technique can be used for identification of
(1) Minerals (2) Oils and resins

(3) Organic pigments (4) Lignin content
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[Question ID = 3044][Question Description = Q06_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11639]
2. 2 [Option ID = 11640]
3. 3 [Option ID = 11641]
4. 4 [Option ID = 11642]

7) Didarganj Yakshi is acquired by Bihar Museum by which mode
(1) Purchase (2) Long term loan

(3) Gift (4) Exchange
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[Question ID = 3045][Question Description = Q07_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11643]
2 [Option ID = 11644]
3 [Option ID = 11645]
4 [Option ID = 11646]
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8) Which of the following legal terms is related to collection?
(1) Wall-to-Wall (2) Unrestricted gift

(3) Liability (4) Floater
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[Question ID = 3046][Question Description = Q08_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11647]
2.2

[Option ID = 11648]
3.3

[Option ID = 11649]
4. 4
[Option ID = 11650]
9) Which of the following statements is correct?
(1) a museum does not need an acquisition policy if it already has a collection (2) a museum must accept all gifts
(3) ethics are an important aspect of collecting (4) collection research should only be done by university museums
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[Question ID = 3047][Question Description = Q09_Museology_ SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11651]
2 [Option ID = 11652]
3 [Option ID = 11653]
4 [Option ID = 11654]
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10) Which of the following is the general principle of marking accession number on the Object?
(1) use of unstable products (2) ignore the continuity of the documentation of old accession number

(3) integrity of the object is of least importance (4) ensure the continued existence of the accession nhumber
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[Question ID = 3048][Question Description = Q10_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11655]
2 [Option ID = 11656]
3 [Option ID = 11657]
4 [Option ID = 11658]
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11) Which methodology will you follow while marking accession number on the object?

(1) write accession number with a coloured pen in a way to merge with colour of the object (2) write it in front of the
object clearly visible to the visitors

(3) write in a dimension which is proportional to the dimension of the object (4) write in a place where there is risk to be
erased
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[Question ID = 3049][Question Description = Q11_Museology_SHAAN_20NOV21_S1_Shift2]
. 1 [Option ID = 11659]
2 [Option ID = 11660]
3 [Option ID = 11661]
4 [Option ID = 11662]
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12) Documentation of museum objects in an excel sheet has the following advantage
(1) need electricity supply (2) require a knowledge of Excel

(3) require a great precision (4) immediate possibility of research

ToTETe AT 1 vEHe wiz | Ut gl & e e
(1)  Tomm 1 st (2) ‘THEE W FE
(3) iAo gamar i s (4) =g =i doRieT TEETEAT

[Question ID = 3050][Question Description = Q12_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11663]
2 [Option ID = 11664]
3 [Option ID = 11665]
4 [Option ID = 11666]
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13) Which of the following is considered the most appropriate method of collecting authentic archaeological materials?
(1) gift  (2) fieldwork

(3) purchase (4) exchange
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[Question ID = 3051][Question Description = Q13_Museology_SHAAN_20NOV21_S1_Shift2]



1 [Option ID = 11667]
2 [Option ID = 11668]
3 [Option ID = 11669]
4 [Option ID = 11670]
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14) Cloze test conducted by a museum on a sample of exhibition text gives a score between 57 percent and 61 percent.
What does the score indicate?

(1) The text is roughly fully comprehensible (2) The text is highly comprehensible

(3) The text is highly difficult to comprehend (4) The text is very easy to understand
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[Question ID = 3052][Question Description = Q14_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11671]
2 [Option ID = 11672]
3 [Option ID = 11673]
4 [Option ID = 11674]
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15) Which of the following types of exhibition labels tells about several closely related items displayed in a single case?
(1) introductory panels (2) group caption

(3) didactic panels (4) object captions
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[Question ID = 3053][Question Description = Q15_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11675]
2 [Option ID = 11676]
3 [Option ID = 11677]
4 [Option ID = 11678]
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16) Which of the following provides and regulates a variety of stimuli to which the visitors will be exposed in a museum
exhibition?

(1) orientation (2) ambience

(3) master plan (4) pacing
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[Question ID = 3054][Question Description = Q16_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11679]
2 [Option ID = 11680]
3 [Option ID = 11681]
4 [Option ID = 11682]
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17) A three-dimensional miniature or life-size scene in which figures, stuffed wildlife, or other objects are arranged in a
naturalistic setting against a curved painted background is called



(1) Cyclorama (2) Panorama

(3) Diorama (4) Tableau
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[Question ID = 3055][Question Description = Q17_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11683]
2. 2 [Option ID = 11684]
3. 3 [Option ID = 11685]
4. 4 [Option ID = 11686]

18) Who gave the theory of Experiential Education?
(1) Jean Piaget (2) John Dewey

(3) Benjamin Bloom (4) Howard Gardner
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[Question ID = 3056][Question Description = Q18_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11687]
2. 2 [Option ID = 11688]
3. 3 [Option ID = 11689]
4. 4 [Option ID = 11690]

19) Which of the following intelligences refer to ‘the ability to handle chains of reasoning and to recognize pattern and
order’?

(1) logical-mathematical (2) spatial

(3) intrapersonal (4) musical
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[Question ID = 3057][Question Description = Q19_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11691]
2. 2 [Option ID = 11692]
3. 3 [Option ID = 11693]
4. 4 [Option ID = 11694]

20) Which of the following intelligences refer to ‘the ability to use body skillfully and handle objects adroitly’?
(1) spatial (2) bodily-kinesthetic
(3) naturalist (4) musical
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[Question ID = 3058][Question Description = Q20_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11695]
2 [Option ID = 11696]
3 [Option ID = 11697]
4 [Option ID = 11698]
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21) Which of the following theory takes a view that ‘knowledge exists outside the learner and learning is incremental
added bit by bit’?

(1) Didactic, Expository (2) Stimulus - Response
(3) Discovery (4) Constructivism
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[Question ID = 3059][Question Description = Q21_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11699]
2 [Option ID = 11700]
3 [Option ID = 11701]
4 [Option ID = 11702]
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22) ‘Azurite’ is a corrosion product found on
(1) silver (2) iron

(3) copper (4) electrum
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[Question ID = 3060][Question Description = Q22_Museology_ SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11703]
2 [Option ID = 11704]
3 [Option ID = 11705]
4 [Option ID = 11706]
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23) ‘Tidelines’ are often visble on the following type of object
(1) Paper manuscript (2) Bronze sculpture

(3) Leather puppet (4) Stone sculpture near sea shore
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[Question ID = 3061][Question Description = Q23_Museology_ SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11707]
2 [Option ID = 11708]
3 [Option ID = 11709]
4 [Option ID = 11710]
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24) The terms ‘Brown Rot’ and ‘Soft Rot' are used with reference to deterioration of

(1) textile (2) metal

(3) mural (4) wood
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[Question ID = 3062][Question Description = Q24_Museology_SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11711]
2. 2 [Option ID = 11712]
3. 3 [Option ID = 11713]
4. 4 [Option ID = 11714]

25) ‘Lignin’ that imparts rigidity to wood is
(1) Phenolic component (2) Sulphonic component

(3) Ketonic component (4) Non-ionic component
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[Question ID = 3063][Question Description = Q25_Museology_ SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11715]
2. 2 [Option ID = 11716]
3. 3 [Option ID = 11717]
4. 4 [Option ID = 11718]

26) Maceration of incubated dry egg is done by using

(1) ethyl alcohol (2) pure glycerine

(3) pepsin  (4) calcium hydroxide
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[Question ID = 3064][Question Description = Q26_Museology_ SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11719]
2. 2 [Option ID = 11720]
3. 3 [Option ID = 11721]
4. 4 [Option ID = 11722]

27) Which of the following techniques used in conservation is invasive in nature
(1) UV examination (2) X-Ray radiography

(3) X-Ray fluroscence (4) X-Ray diffractometry
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[Question ID = 3065][Question Description = Q27_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11723]
2. 2 [Option ID = 11724]
3. 3 [Option ID = 11725]
4. 4 [Option ID = 11726]

28) ‘ColorpHast’ indicator strips are used to measure
(1) R.H. (2) V.V

(3)A.H. (4)pH
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[Question ID = 3066][Question Description = Q28_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11727]
2. 2 [Option ID = 11728]
3. 3 [Option ID = 11729]
4. 4 [Option ID = 11730]

29) Organisations ability to perform in ways that competitors cannot or will not match is called
(1) core competency (2) competitive advantage

(3) corporate culture (4) credence attributes
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[Question ID = 3067][Question Description = Q29_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11731]
2. 2 [Option ID = 11732]
3. 3 [Option ID = 11733]
4. 4 [Option ID = 11734]

30) The book “Solubility and solvents for conservaton problems”, ICCROM, Rome (1984) was authored by
(1) O.P. Agarwal (2) D.P. Agarwal

(3) Marissa L. Tabasso (4) G. Torraca
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[Question ID = 3068][Question Description = Q30_Museology_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11735]
2.2

[Option ID = 11736]
3.3

[Option ID = 11737]
4. 4

[Option ID = 11738]



31) As per Maslow’s Hierarchy of needs, social need of museum employees is
(1) security (2) self-respect

(3) acceptance (4) development and fulfillment
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[Question ID = 3069][Question Description = Q31_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11739]
2. 2 [Option ID = 11740]
3. 3 [Option ID = 11741]
4. 4 [Option ID = 11742]

32) Which one of the following is a tangible reward given to an employee for motivation?
(1) Inviting the employee in a higher level meeting (2) Pat on the shoulder

(3) Appreciation during regular staff meeting (4) Cash reward
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[Question ID = 3070][Question Description = Q32_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11743]
2. 2 [Option ID = 11744]
3. 3 [Option ID = 11745]
4. 4 [Option ID = 11746]

33) Which of the following is a single use plan?
(1) budget (2) policies

(3) procedures (4) rules
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[Question ID = 3071][Question Description = Q33_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11747]
2. 2 [Option ID = 11748]

3. 3 [Option ID = 11749]
4. 4 [Option ID = 11750]

34) Considering the components of the total offerings of a museum, it can be viewed as a

(1) pure service (2) pure tangible good

(3) major service with accompanying minor goods and services (4) tangible good with accompanying services
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[Question ID = 3072][Question Description = Q34_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11751]
2 [Option ID = 11752]
3 [Option ID = 11753]
4 [Option ID = 11754]
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35) Which of the following is a popular measurement tool in which consumers rank their preference along a scale that
varies from “agree” to “disagree” with various gradations between the extremes?

(1) Likert scale (2) Attitude scale

(3) Behavior intention scale (4) Semantic differential scale
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[Question ID = 3073][Question Description = Q35_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11755]
2 [Option ID = 11756]
3 [Option ID = 11757]
4 [Option ID = 11758]

A W N -

36) Which of the following marketing communication tools a museum is using, if it waives admission fee after reopening
during Unlock 1?

(1) advertising (2) sales promotion

(3) public relations and publicity (4) personal selling
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[Question ID = 3074][Question Description = Q36_Museology_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11759]
2.2

[Option ID = 11760]
3.3

[Option ID = 11761]
4. 4
[Option ID = 11762]
37) Maturity stage in the Product life cycle is marked by

(1) sales petrify at a low level (2) sales growth is apt to be slow

(3) rapid climb in sales (4) sales growth rate starts to decline or sales flattens
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[Question ID = 3075][Question Description = Q37_Museology_ SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11763]
2 [Option ID = 11764]
3 [Option ID = 11765]
4 [Option ID = 11766]
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38) Which of the following statements are true?

(A) Museums that maintain collections hold them in trust for the benefit of society and its development

(B) Museums operate in an illicit manner

(C) Museum preserve, interpret and promote the natural and cultural inheritance of humanity

(D) Museums provide opportunities for appreciation, understanding and promotion of the natural and cultural heritage
(E) Museums exist to generate profit

Choose the corect answer from the options given below :

(1) (A), (B), (E) Only  (2) (A), (C), (D) Only

(3) (B), (D), (E) Only (4) (C), (D), (E) Only
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[Question ID = 3076][Question Description = Q38_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11767]
2 [Option ID = 11768]
3 [Option ID = 11769]
4 [Option ID = 11770]
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39) Which of the following is included in mandate of ICCROM?

(A) collecting and disseminating information

(B) promoting awareness about day to day activities a museum

(C) providing advanced training to emerging and mid-career professional

(D) promoting awareness of the value of preserving cultural heritage



(E) offering consultation for visitors
Choose the correct answer from the options given below :
(1) (A), (B), (D) Only (2) (B), (C), (D) Only

(3) (A), (C), (D) Only (4) (B), (D), (E) Only

f=feriaa 9 @ swm (ICCROM) &1 &4 @1 #Aidem 27

(A)  TEAT T T AN THE TER T |

(B) TUmE % 3% fFATEeT & AW § ArEwal 92 |

(C)  =wid Wi 3iR Tag—=Hfe Uil =i Ieael A UgH =T |
(D)  TEHEF 9 F TEE F Haed F AN § Al S8 |

(E)  SIFTa 1 THE T8H FET |

= fm o et @ 1 TE I W T A

(1) Fa4 (A), (B) #F (D) (2) == (B), (C) = (D)

& e @ @), O @

[Question ID = 3077][Question Description = Q39_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11771]
2. 2 [Option ID = 11772]
3. 3 [Option ID = 11773]
4. 4 [Option ID = 11774]

40) Which of the following are the missions of the ICOM?
(A) Management of Museum professionals

(B) Combating the illicit traffic of cultural goods

(C) Promotion of culture and knowledge

(D) Protection of Museum related issues

Choose the correct answer from the options given below :
(1) (A), (C) only  (2) (B), (D) only

(3) (C), (D) only  (4) (B), (C) only
AT T A U F HeAfeEa 5 F w9 F e 20

e

(A)  TUEEE YIE TS|

(B)  TIEHTE FGE F AT ST H A |

(C)  ToFd AR T Fl FE & |



(D)  TUEE E TEEd =99 A |

S fom o e ¥ § HeE I 3o 9

(1)  F=Fd (A) 3 (C) (2) Fa= (B) 3 (D)

(3)  F= (C) 3 (D) @) F== (B) 37 (C)

[Question ID = 3078][Question Description = Q40_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11775]
2. 2 [Option ID = 11776]
3. 3 [Option ID = 11777]
4. 4 [Option ID = 11778]

41) A person who desires to obtain information under RTI Act shall
(A) Make a request

(B) Pay prescribed fee

(C) Specify the particulars of the information sought

(D) Give reason for requesting information

(E) Give complete personal details

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (A), (B), (C) and (D) only

(3) (A), (B), (D), (E) only (4) (A), (C), (E) only

(B) FuifE o= =71 =m
(C) =t 7t F= | Hetad wF = o 5
(D)  SHFE T FH F S FOFA w9 A

(E)  #91 G AT SART 44 AT

(1)  F&aa (A). (B) #E (C) @ ¥ (A). B). (C) 5 D)
(3 4 A, (B), (D) ¥ (B) @) FE (), (O) 3 (B)

[Question ID = 3079][Question Description = Q41_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11779]
2. 2 [Option ID = 11780]
3. 3 [Option ID = 11781]
4. 4 [Option ID = 11782]

42) The Antiquities and Art Treasure Act, 1972 was enacted by the Parliament to



(A) Regulate the export trade in antiquities and Art treasures

(B) Regulate archaeological excavations

(C) Provide for the prevention of smuggling of and fraudulent dealings in antiquities

(D) Protection of sculptures, carvings and other like objects

(E) To provide for compulsory acquisition of antiquities and art treasures for preservation is public places
Choose the correct answer from the options given below :

(1) (A), (C), (D) and (E) only (2) (A) (B) and (C) only

(3) (B), (C), (D), and (E) only (4) (A), (C) and (E) only

T g 7 AT U W g statm 1972 fR 2 =y fen e e
(A)  TEE UF e 9SAl F Ed # EE wE

(C)  oraeg i aiEm 92l # =ANR # aHi 9 T o Geel T He

(E)  WEEFH F1 AGEE T S AEE el W e e v

= fou T el § 8 wE I F =E Fie
(1)  Fa (A). (). (D) 31 (E) (2) F=E (A). (B) 31 (C)
(3)  #a= (B). (C). (D) #i (E) (4) F=E (A). (C) 3 (E)

[Question ID = 3080][Question Description = Q42_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11783]
2. 2 [Option ID = 11784]
3. 3 [Option ID = 11785]
4. 4 [Option ID = 11786]

43) Which of the following are covered under The Rights of Persons with Disability Act 2016?
(A) A National Museum

(B) A Regional Museum

(C) A municipal museum

(D) A District Museum

(E) A Private collection by individual

Choose the correct answer from the options given below :

(1) (A), (B) and (E) only (2) (A), (B) and (D) only

(3) (A), (B), (C) and (D) only  (4) (A), (C) and (D) only

T @ B fosam 59 siumr sitaeEE 2016 | wiad 7



(B) & duErem

(C) r 7w T

D) T FEeE

(B) i =i g fst oos

I f2u T faweT § | HE I 5 Fiaw
(1)  #3 (A). (B) 571 (E) (2) F= (A), (B) #1T (D)
@  FE Q). ®). (©) T D) @ ¥ (A), (©) 3t (D)

[Question ID = 3081][Question Description = Q43_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11787]
2. 2 [Option ID = 11788]
3. 3 [Option ID = 11789]
4. 4 [Option ID = 11790]

44) What could be the appropriate reasons for the de-accessioning of a museum object? (A) To make financial gains
(B) To refine the focus of the collection

(C) To repatriate the object

(D) To remove deteriorated and unsalvageable objects

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (A), (B), (D) only  (4) (A), (B), (C), (D) only

T T T % AR 1S9 HI AT T 7

(A)  =fq® =y =g

(B)  TUE F1 WIFA dEA T

(C) = T ToAEtaa F

= fou MU fEweT ¥ | W I W =99 S

(1) === (A), (B). (C) (2) F== (B). (C). (D)

(3)  =a= (A). (B). (D) (4) Faa (A). (B). (C). (D)

[Question ID = 3082][Question Description = Q44_Museology_ SHAAN_20NOV21_S1_Shift2]
1.1



[Option ID = 11791]
2.2

[Option ID = 11792]
3.3

[Option ID = 11793]
4. 4
[Option ID = 11794]
45) Following are the examples of Intangible Cultural Heritage of India
(A) Satriya Dance
(B) Ramlila of Ram Nagar
(C) Dancing Girl from Mohenjodaro
(D) Jandila Guru Ke Thathere (Metal Smiths)
(E) Didarganj Yakshi
Choose the correct answer from the options given below :

(1) (C) and (E) only  (2) (A), (B), (D) only

(3) (A), (B), (C), (E) only  (4) (A), (B), (C), (D) only

N, SO O o O o X
A 1 ST HEFIOF HE F FeenEgd e w

EVI Ee

(B) T/ = R T =i

(C) =SS! Bl A

(D) € T & aat (Hee fey)

(E)  <iemrs =

4= fou T e | @ wE S 99 A

(1)  %a« (C) #r (E) (2)  =ae (A). (B). (D)

(3)  =ae (A). (B). (C). (E) (4) == (A). (B). (C). (D)

[Question ID = 3083][Question Description = Q45_Museology SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11795]
2. 2 [Option ID = 11796]
3. 3 [Option ID = 11797]
4. 4 [Option ID = 11798]

46) In a Museum storage one should have
(A) Collection

(B) Non collection

(C) Furniture for collection

(D) Display cases from previous exhibitions
(E) Fire extinguisher

Choose the most appropriate answer from the options given below :



(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (A), (C), (E) only (4) (B), (D), (E) only
HYETT SN § BT =0T

&) T

B) -

(C) ™= = fom

D) 7 F e e

(E)y  =f ek

= f3u o feei 9 ® wE I W == S

(1) == (A), (B), (C) (2) F== (B). (C). D)

(3)  F99 (A). (C), (B) (4) F== (B), (D). (E)

[Question ID = 3084][Question Description = Q46_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11799]
2. 2 [Option ID = 11800]
3. 3 [Option ID = 11801]
4. 4 [Option ID = 11802]

47) As per the ICCROM guidelines secondary card indices are

(A) Generally of a different color that have been used for main index

(B) Having the ‘information which is exactly the same as the one on the main card index
(C) Having information similar to accession register

(D) Not having the localization or location number

(E) Also used during the movement of the objects.

Choose the correct answer from the options given below :

(1) (A), (B), only (2) (A), (C), (D) only

(3) (B), (C), (E) only (4) (C), (D), (E) only
AT i H HE 30 v % feen M % snew w i o gee Ao
(A)  FEEE g g F 60 T O F Ao O
(B) W= T I F GEAE F THET I F EAT
(C)  famEw 9fS= % w1gET F=a #1 2
(D) =R AT T HEA R A R

(E)  9H0AT & S 5 e S wEi e



i f2u o fereal § O w3 w1 =EA i

(1) a4 (A), (B) (2) F= (A). (O). (D)

(3)  Fa9 (B), (C), (E) (@) Fa= (C), (D). (E)

[Question ID = 3085][Question Description = Q47_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11803]
2. 2 [Option ID = 11804]
3. 3 [Option ID = 11805]
4. 4 [Option ID = 11806]

48) Accession register can never be

(A) A group of single flying pages

(B) A well bound document

(C) In a ring binder

(D) Without page numbers

(E) A document that any one can consult

Choose the correct answer from the options given below :
(1) (A), (B), (D) only  (2) (A), (C), (D), (E) only

(3) (B), (D), (E) only  (4) (B), (C), (E) only

giE ufs 4 981 21 gl -

(A) g 9= F EgE
(B)  =TEigd uerd

(C) wHfmam=H
(D) T8 T F A

(E) Uo7 Urerg g FE o 7 = O |

=1 fou o e B wE I = e

(1) == (A). (B). (D) (2) Fa (A). (C). (D). (E)

(3)  =a= (B). (D). (E) (4) Fa= (B). (C). (E)

[Question ID = 3086][Question Description = Q48_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11807]
2. 2 [Option ID = 11808]
3. 3 [Option ID = 11809]
4. 4 [Option ID = 11810]

49) In a documentation system individual files have the following :
(A) Catalogue of exhibition in which this object had been presented
(B) Catalogue of auction offices having sold similar objects

(C) Catalogue of companies, whose chemicals were used in its conservation



(D) Health card of the curator of this collection

(E) Scientific articles concerning similar object

Choose the correct answer from the options given below :
(1) (B), (D), (E) only  (2) (A), (C), (D) only

(3) (A), (B), (E) only (4) (C), (D), (E) only

TEE T T ° TeE e § Hetangd 5 =

(A)  wEEHT = g e 38 wermia i T o 2

(B) =7 A FH T FEieE 1 g e ot v i wenstaa w1 fFwa
(C) 39 TEM *ul=i =1 geis F5eh Wt =1 o7 aeevr = fore Wy e = 2 |

(D)  FTFCAT F FIETEAL F =R FE

(E) =i 7R F Ferbiadl ¥ gl a9 e

fr= fau o feepedt # @ wE I W == Fifw

(1)  #= (B). D). (E) (2) F= (A). (C). (D)

(3)  Fa7 (A), (B), (E) (4) =4 (C), (D). (E)

[Question ID = 3087][Question Description = Q49_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11811]
2. 2 [Option ID = 11812]
3. 3 [Option ID = 11813]
4. 4 [Option ID = 11814]

50) According to ICCROM even if you have a computerised documentation system, you will have to do which elements of
the documentation by hand or manually

(A) Catalogue card

(B) Individual file

(C) Marking the number on the object

(D) Giving the localisation system or location number in the storage
Choose the most appropriate answer from the options given below :
(1) (A), (C) only (2) (B), (D) only

(3) (C), (D) only  (4) (B), (C) only

TS T i AW I UH % FTEE AT U O WA ggid w4 9 o, R deat 1 wedisor w
T AT T - ST B FE] B

(A) g wE

(B) =AfFFE wEA

(C) =l W Hem fomgn



(D)  HSAW = H9E THEH WO 1 T S YSH HA

e fau o fasheat | @ weE IEEd I =EA Hif

(1) = (A), (C) (2) = (B). (D)
(3) A4 (C). (D) @ 3= (B). (O)

[Question ID = 3088][Question Description = Q50_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11815]
2. 2 [Option ID = 11816]
3. 3 [Option ID = 11817]
4. 4 [Option ID = 11818]

51) Which of the following affect legibility of the exihibition text?
(A) sentence structure

(B) viewing distance

(C) type size

(D) location of the text

Choose the most appropriate answer from the options given below :
(1) (A) and (C) only (2) (B) and (C) only

(3) (B), (C), and (D) only (4) (C) and (D) only
T H A1 WEIHT i TerfiEd A o T e e 2 7
@) =
B) s

(C) == 3R

(D)  foriga =l = o

= f2u 0 fosel § @ mEE 3ord I o 9E i

(1) =& (A) 37 (C)
(2)  Fad (B) 3 (C)
(3)  Fa (B), (C) 1 (D)

(4)  FI (C) 317 (D)

[Question ID = 3089][Question Description = Q51_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11819]
2. 2 [Option ID = 11820]
3. 3 [Option ID = 11821]
4. 4 [Option ID = 11822]

52) The benefits of computer-controlled lighting system include

(A) controlled exposure to light



(B) brighter exposure

(C) capital expenditure

(D) energy saving

Choose the most appropriate answer from the options given below :
(1) (A) and (D) only (2) (B) and (C) only

(3) (B), (C) and (D) only (4) (A), (B) and (D) only

e TR T S F R A A A

(A) TEfEE T IR

(B) ERETALETAEoE |

(©) e =4

(D) =9 ® =F=E

W f20 T oot 9 @ mew s S = i
(1) === (A) 311 (D) (2) FF= (B) # (C)
(3) F94 (B), (C) 31 (D) @) FF (A), (B) ¥ (D)

[Question ID = 3090][Question Description = Q52_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11823]
2. 2 [Option ID = 11824]
3. 3 [Option ID = 11825]
4. 4 [Option ID = 11826]

53) Which of the following are common features of a museum exhibition and a trade show? (A) use of objects
(B) use of multi-media

(C) include interactive experiences

(D) promotion of goods and services

Choose the most appropriate answer from the options given below :

(1) (B), (C) and (D) only (2) (B) and (C) only

(3) (A), (C) and (D) only (4) (A), (B) and (C) only

T ° FH § =N U9 FUEed UE9E F 9T B9 B 7

(A)  =FEA F I

(B)  SE-SA-TER H TEM

(C)  FAi—=aiwarTcHs ATl =l =



(D) TG AN HATA 1 TFEA

=1 fau e feedi § W e IogEA I 1 9 A
(1)  Fa= (B). (C) 3% (D) (2) = (B) 3 (C)
(3)  Fad (A). (C) 3 (D) (4) F= (A), (B) 3 (C)

[Question ID = 3091][Question Description = Q53_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11827]
2. 2 [Option ID = 11828]
3. 3 [Option ID = 11829]
4. 4 [Option ID = 11830]

54) Which of the following can be offered to people with visual impairment?
(A) Tactile drawings of objects

(B) Ramps

(C) Taped guides

(D) Maps showing seating

(E) Braille labels

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (A), (C), (D) and E only

(3) (A), (C) and Eonly (4) (A), (D) and E only

Zfe sifea =afaaar =1 fefafed & 8 #=0 f2 = g 27
(A)  =TEgHA % TEHE o

B) W

()  femn-fcei = 2w

(D) s34 =hi SR 20 et A9

(E) &= =med

H= fau T faedt § | TE I W = i
() F=E (A, (B) 3 (©) @ F= ), (O). (D) 5 (E)
(3)  Fa (A). (C) ¥ () @) ¥ (A), D) 3R (E)

[Question ID = 3092][Question Description = Q54_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11831]
2. 2 [Option ID = 11832]
3. 3 [Option ID = 11833]
4. 4 [Option ID = 11834]

55) Which of the following activities mainly involve cognitive and affective domain of learning?



(A) Listening to a story

(B) Dancing

(C) Watching a historical drama

(D) Basket weaving

(E) Clay modelling

Choose the correct answer from the options given below :
(1) (B), (D) and (E) only (2) (A), (C) and (D) only

(3) (A) and (C) only (4) (B), (C) and (D) only

freferfiga & o A Tampedl 4 giead AR 1 GEFETCAT ST qTETes TaE e w8 7

(A) IS FEAT G

(B) ATEAT

(C) IS UldeTibeh 12 233G
(D) = g

(E)  Tagi 1 giv=n s=mn

i f3u o faeal 9 | wE I o = i

(1) === (B), (D), (E) (2) == (A), (C). (D)
(3) A (A). (C) @) = (B). (C), (D)

[Question ID = 3093][Question Description = Q55_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11835]
2. 2 [Option ID = 11836]
3. 3 [Option ID = 11837]
4. 4 [Option ID = 11838]

56) Following are the examples of remedial conservation
(A) Treatment of leaded bronzes using neutral BTA

(B) Use of silical gel in bronze object showcase

(C) Treatment of bronze disease using Benzotriazole

(D) Lining of a canvas painting

(E) Use of age-less in showcases having bronzes

Choose the correct answer from the options given below :
(1) (A), (B), (C) only (2) (A), (D), (E) only

(3) (B) and (E) only  (4) (A), (C), (D) only

FeATETEd IEE TR % IS



(A)  SE FEA F A ol 4 T F T gAT IER
(B) fufers =1 o1 =iea Ferpiaai = g 5 =
(C) =M * WA § HE-TH % ITEH
(D) % e o W e

(E)  ‘U=etm W W HATHA 91 A 5 A

= 20 T T § | wE 39 o =5 FIA

(1) === (A), (B). (C) (2) F9 (A), D). (E)
(3) A (B) ¥ (E) (4) === (A), (C) 211 (D)

[Question ID = 3094][Question Description = Q56_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11839]
2. 2 [Option ID = 11840]
3. 3 [Option ID = 11841]
4. 4 [Option ID = 11842]

57) Which of the following are the ethics of conservation?
(A) Reversibility of the treatment

(B) Minimum intervention

(C) Giving extra shine to paintings and arifacts

(D) Compatability of the materials used for conservation
Choose the correct answer from the options given below :
(1) (A), (B), (C) only  (2) (A), (B), (D) only

(3) (B), (C) and (D) only (4) (C) and (D) only

T A H WA F Afow gea 27

(A) FAER =/ AcATEG"T

(B) FH ° FH =AY

(C) &= Foat oii Fempieai =1 sAfafea s

(D) T % U T A R S

= f3u o feeal 9 © WA 39 = i

(1) 4 (A), (B) 31 (C) (2) Fa (A), (B) #iT (D)

(3)  F=9 (B). (C) ¥R (D) @) A= (C) 3% (D)



[Question ID = 3095][Question Description = Q57_Museology_ SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11843]
2.2

[Option ID = 11844]
3.3

[Option ID = 11845]
4. 4
[Option ID = 11846]
58) Which of the following are characteristics of corporate funding?
(A) Matching of interest
(B) Give and take approach
(C) Lot of paperwork
(D) More types of gifts
Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only

(3) (B) and (D) only (4) (C) and (D) only
Tretieafiga 8 | - Hranz {5 geo i faemad 27
(A) FEFAA
B) - FEEW

(C) =g OrEn | = wE

(D)  FUEA] % FHFTEE

= fou U fobodi | O weE SUgEd AL BT =EA R

(1)  Fad (A) 377 (B) (2) = (B) 3 (C)

(3)  Faw (B) 3 (D) (4) =a= (C) 3k (D)

[Question ID = 3096][Question Description = Q58_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11847]
2. 2 [Option ID = 11848]
3. 3 [Option ID = 11849]
4. 4 [Option ID = 11850]

59) Which of the following Mineral pigments have been used in Indian miniature paintings?
(A) Lazwardi

(B) LAC

(C) Kharia

(D) Ramraj

(E) Peori



Choose the correct answer from the options given below :
(1) (A), (B) and (E) only (2) (A), (C) and (D) only

(3) (B), (D) and (E) only (4) (B), (C) and (D) only

T T FE G @S T T A gt § e e

(A) T
(B) TmE
(C) @iz
(D) T=H
(E) o

= fou o feereul @ © WA 3w = i

(1)  Fa9 (A). (B). (E) (2) Fa= (A), (O). D)
(3)  Fa= (B). (D). (E) ) F=4 (B). (O). (D)

[Question ID = 3097][Question Description = Q59_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11851]
2. 2 [Option ID = 11852]
3. 3 [Option ID = 11853]
4. 4 [Option ID = 11854]

60) Graphic depiction of Critical Path Analysis depicts
(A) Cash flow requirement

(B) Interdependence of the activities to be completed
(C) Time for activities to start and finish

(D) Logical sequence of the activities

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2) (A), (B) and (D) only

(3) (B) and (D) only (4) (B), (C) and (D) only

TEeaqvl Uy faverw & srendl faaw 4 fefetas = e e = 2-
(A) s WER® AETEHAl

(B) W =i S ATl iatataEl i G

(C)  Tifafafemy wRY i 31T 9q1H % & fofo 599

(D) TIATE T T AEE 5



A= B 0 &hedl H H G998 399 30 = =140 =hIEY

(1) == (A). (B) 317 (C) (2) == (A), (B) #T (D)
(3) A (B) 3 (D) (4) = (B), (C) #7 (D)

[Question ID = 3098][Question Description = Q60_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11855]
2. 2 [Option ID = 11856]
3. 3 [Option ID = 11857]
4. 4 [Option ID = 11858]

61) Following are processes involved in remedial treatment of oil painting
(A) Consolidation of flaked areas

(B) Removal of varnish

(C) Application of Citronella oil

(D) Filling of Lacunae

(E) Burnishing of the surface

Choose the correct answer from the options given below :

(1) (A), (B), (C) and (E) only (2) (A), (B) (C) and (D) only

(3) (A), (B), and (D) only (4) (A), (B), and (E) only
et F guwrens 9= § frsfefaa afFne w1 gaEm 2-
(A)  WIET AT T G
(B)  ARM® W AT
(C) ot o= F1 =
(D)  HEH w9

(E) T 51 =9HE

= fou o faet 9 B @E I W 99 St
(1) & (A), (B). (C) 3R (E) (2) Fa (A). B). (C) 7 (D)
(3)  Fae (A). (B) 31 (D) @) Faa (A), (B) 3 (E)

[Question ID = 3099][Question Description = Q61_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11859]
2. 2 [Option ID = 11860]
3. 3 [Option ID = 11861]
4. 4 [Option ID = 11862]

62) Use of following chemicals is considered as health and occupational hazard to the conservator
(A) Starch paste
(B) Phosgene

(C) Paradichlorobenzene



(D) Thymol

(E) Benzene

Choose the correct answer from the options given below :
(1) (A) and (C) only (2) (B), (C), (D) and (E) only

(3) (A) and (E) only (4) (A), (B) and (C) only
(A) M 9=

(B) A

(C)  TI-ZrEFeAiE—=H

D) =
(E) ==

= T2 o fameai H§ 1 HE 3 1 999 A

(1)  F= (A) 3R (C) (2) = (B). (O). (D) 3T (E)
(3)  Fa (A) 3 (E) @) Fa4 (A), (B) 377 (C)

[Question ID = 3100][Question Description = Q62_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11863]
2. 2 [Option ID = 11864]
3. 3 [Option ID = 11865]
4. 4 [Option ID = 11866]

63) SWOT methodology offers the prospects of

(A) building on strengths

(B) identifying cause and effects of strategic change

(C) eliminate or atleast mitigate weaknesses

(D) minimize the effect of external threats

Choose the most appropriate answer from the options given below :
(1) (A) and (C) only (2) (B), (C) and (D) only

(3) (A), (C) and (D) only  (4) (A), (B) and (D) only
“wre e At T e g
(A) =l H E wE
(C) i & 0 T F9 H F7 = T

(D) == T % UEE FFE FE



= fzo v oot § @ mEw T0gEa I R 99 A

(1) A (A) 3F (C) (2) == (B), (C) 3 (D)
(3)  Fad (A), (C) i (D) (4) == (A), (B) = (D)

[Question ID = 3101][Question Description = Q63_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11867]
2. 2 [Option ID = 11868]
3. 3 [Option ID = 11869]
4. 4 [Option ID = 11870]

64) Which of the following steps could be taken by a museum if it is facing the state of overfull demand?
(A) reduce promotion

(B) reduce pricing

(C) increase timings

(D) expand spatially

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (D) only (2) (A) and (B) only

(3) (B), (C) and (D) only (4) (A), (B) and (D) only

AT ATSF 91 7H T TR Sumem g FefeRad 5 9 FE-91 FE S8 9 a1 2 7
(A) TG FH T
(B)  g=a 9 FH A
(C) ToImEg agH

D) & F faEn

e 73U U fasedt § | GeE 3Ug I 0 9 i

(1) Fa= A), (O) 31 D)
(2)  FAA (A) ¥ (B)

(3)  F= (B). (C) 5 (D)
4) ¥ (A). B) 3 (D)

[Question ID = 3102][Question Description = Q64_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11871]
2. 2 [Option ID = 11872]
3. 3 [Option ID = 11873]
4. 4 [Option ID = 11874]

65) Which of the following consumer groups come under behavioral segment?
(A) Rural
(B) Quality seekers

(C) llliterate



(D) Free riders

(E) Adults

Choose the correct answer from the options given below :
(1) (A), (B) and (E) only (2) (B) and (D) only

(3) (C), (D) and (E) only (4) (A) and (E) only

frefafes 9 o =H-w1 S99 T SHEn-TeE &+ A o 27
(A) ey

(B)  ToTEET =T AT

(C) Fem

(D) % | U B TEI T A

(E) ERrea

= f2u T foekedi § @ wE TR H =5 FAw

() F=9 A). (B) 317 (E) (2) T (B) 3 (D)
(3) === (C), (D) =W (E) (4) F= (A) A1 (E)

[Question ID = 3103][Question Description = Q65_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11875]
2. 2 [Option ID = 11876]
3. 3 [Option ID = 11877]
4. 4 [Option ID = 11878]

66) Match List | and List Il

List | List Il
(A) The Venice Charter ) 2003
(B) The UNESCO convention for the
safeguarding of the intangible (I 1972
heritage
(C) Right to Information Act () 1964
(D) The Wild Life Protection Act (Iv) 2005

Choose the correct answer from the options given below:
(1) (A)-(1n, (B)-(I1), (C)-(1V), (D)-(1)
(2) (A1, (B)-(1V), (C)-(), (D)-(1N)
(3) (A=, (B)-(1), (C)-(1V), (D)-(1N)
(4)  (A)-(IV), (B)-(1D), (C)-(I1), (D)-(1)

Tt 1% @y g=ft 1 =1 e it
71 FH-IT
&) fafma= @M 2003
@B F TR wawA ww f Fentdn s & @D 1972
(C) =1 =1 sAferpm wfufem (IIT) 1964
(D) == S\ T A (IV) 2005

Hi= f5u o fahedi 9 ® wE 3T A == iAo



(1) (A)-ID. (B)-ID. (O)-IV). (D)-@D)
(2)  (A-0D. (B)-(V). (O)-@), (D)-(ID
(3)  (A)-AID. (B)-(1). (C)-(IV), (D)-(ID)
4 (A)-aV), (B)-(II). (C)-aD. (D)-(

[Question ID = 3104][Question Description = Q66_Museology_ SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11879]
2.2

[Option ID = 11880]
3.3

[Option ID = 11881]
4. 4

[Option ID = 11882]

67) Match List | and List Il

List | List Il
(A) CIDOC ) Musical instruments
(B) ICOM-CC (1)  Museology
(C) CIMCIM (lll) Documentation
(D) ICOFOM (IV) Conservation

Choose the correct answer from the options given below:
(1) (A)-(ln), (B)-(IV), (C)-(I)), (D)-(1)
(2)  (A)-(I), (B)-(IV), (C)-(1h), (D)-(1),
(3) (A=, (B)-(IV), (C)-(1), (D)-(ln)
(4)  (A)-(1m), (B)-(IV), (C)-(1), (D)-(IN)

Tt 1% @my gt I =1 faem fifm

-1 -1
(A) i @S g o = (D == =
(B) #1E = 3 um—i = (I) duzreE fagm
(C) =1 =g ww =t =1 v (IIT) AfeemA
(D) 3T Hi 371 UF 39 T (IV) Twam

I 20 T famwea § | w8 I # 9 A

(L)  (A-D. (B)-IV), (C)-1D. (D)-M
2y (A)-aD, (B)-IV). (O)-(ID. (D)-(D.
3 (A)-aD. (B)-IV), (O)-D). (D)-IID
@  (A-D. (B)-V). (O)-D. (D)-(ID

[Question ID = 3105][Question Description = Q67_Museology_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11883]
2.2

[Option ID = 11884]
3.3

[Option ID = 11885]
4. 4

[Option ID = 11886]

68) Match List | and List Il
List | List Il

Storage Furniture % of floor area that they can occupy



(A) Pellets
(B) Compacters
(C) Almirahs

(D) Drawing Cabinets

(I 60%
(1) 35% - 45%
(ny 20%
(IV) 70% - 80%

Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(11), (C)-(D), (D)-(IN)
(2) (A=, (B)-(1), (C)-(I1), (D)-(1V)
(3)  (A)-(1), (B)-(1V), (C)-(I1), (D)-(1)
(4)  (A)-(1n), (B)-(1V), (€)-(), (D)-(1N)

T % =0y -1 1 5o Fifw -
EiB
(&) e
(B)
(C) wF=mm

(D) =0 (3 Hfere)

i Tou e faweai § 0 T8 39 R =ET Hie

(1 (A)-(TV). (B)-(IIT). (C)-(D). (D)-(IT)
(2) (A)-(IID), (B)-(I). (C)-(ID). (D)-(TV)
(3) (A)-(III). (B)-(IV). (C)-(IL). (D)-(I)
(4) (A)-(IID). (B)-(IV). (C)-(I). (D)-(IT)

I
(Ih 60%
(IT) 35% - 45%
(II)y 20%
(IV) 70% - 80%

[Question ID = 3106][Question Description = Q68_Museology_ SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11887]
2.2

[Option ID = 11888]
3.3

[Option ID = 11889]
4. 4
[Option ID = 11890]

69) Match List | and List Il
List |

(A) Didactic exhibition

(B) Emotive exhibition

(C) Evocative exhibition

(D) Aesthetic exhibition

List Il

() Aims to have an effect on
emotions of the visitors

(Il) Aims to make visitors appreciate
beauty of the objects

(1) Aim is to instruct and educate

(IV) Aims to arouse emotions in
visitors by creating an atmosphere and
possibly a theatrical style of
presentation

Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(In), (C)-(lin), (D)-(1)
(2) (A=), (B)-(1), (C)-(1V), (D)-(1N)
(3) (A=, (B)-(N), (C)-(), (D)-(IV)
(4)  (A)-(D), (B)-(IV), (C)-(1n), (D)-(lln)

Tt [ % =y g 11 1 e =ifsm

_—0 T



(4)
(B)

(&)
(D)

= f2v o el 5 | "R 39 o =9 FIA

(1)
2
(3)
4

b Sl
dq-a-,ﬂ.H.rqr?r TEEHI

H-Ei--'ll [REE O CEIE

SERUFHTHE TZTH

(&)-aV). (B)-aD. (C)-dD). M-
(&)-(1D), (B)-(D). (C)-(IV), (D)-(ID
(A)-D). (B)-(IID. (C)-(D. (D)-IV)
(A)-(@). (B)-(IV). (C)-1D). (D)-(ILI)

spei-il

(D ST = GeT i AT F 327

(I1) =oATaT 1 aogen & \igd T9E He 6
EGAE

(IIT) ==i=foat =1 21421 e farfea e 1 3277

(IV) aarerm e vy gegrfad 9iesg 929 = =i
Tl % OHTSAH W gEENAEl 6 WS
ST i F 5574 |

[Question ID = 3107][Question Description = Q69_Museology_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11891]

2.2

[Option ID = 11892]

3.3

[Option ID = 11893]

4. 4

[Option ID = 11894]

70) Match List | and List Il

List |

(A) Deposition

(B) Data standard

(C) Meta data

(D) Registration

List Il

A procedure with which an

object is given a place in the museum
collection

Data describing the context,

content and structure of information

(lll) A statement of what data should
be recorded

(IV) The transfer of the possession of
an object or collection, as a long term
loan to the museum

Choose the correct answer from the options given below:

(M
(2)
3)
(4)

(A)-(lln, (B)-(1V), (C)-(I), (D)-(1)
(A)-(I), (B)-(D), (C)-(IV), (D)-(1IT)
(A)-(1V), (B)-(lln), (C)-(1), (D)-(1)
(A)-(ID), (B)-(D), (C)-(1N), (D)-(IV)

T 1% Fr g 11 e i

(&)

(B)

(C)

(D)

T

S EAT

11
T T T e AR

= |
(IID) == =1 =21 fewe fra w9 =mE =9 o
r‘r\]rﬂu |

(IV) 4 *ef %9 % =9 5§ 5l Fesa

TUE = T AT AT




AT 120 U [9=hedl § | el 309 1 F899 S0

(1)  (A)-dID. (B)-aV). (O)-aD. (D)-D
(2)  A)-aD. (B)-@). (O)-IV). (D)-IID
(3)  (A)-AV). (B)-(I). (O)-aD), (D)-(D
@ (A)-an. B)-@. (O-IID. (D)-AV)

[Question ID = 3108][Question Description = Q70_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11895]
2.2

[Option ID = 11896]
3.3

[Option ID = 11897]
4. 4

[Option ID = 11898]

71) Match List | and List Il

List | List Il
(A) Dry Rot ) Oil paintings
(B) Tarnishing () Wood
(C) Blooming () Paper
(D) Tidelines (Iv) Silver

Choose the correct answer from the options given below:
(M (A)-(), (B)-(1V), (C)-(), (D)-(IT)
(2)  (A)-(), (B)-(h, (C)-(1V), (D)-(li)
(3)  (A)-(V), (B)-(l), (C)-(1), (D)-(1)
(4)  (A)-(), (B)-(1n), (C)-(1V), (D)-(1)

Tt 1 % =19 g=ff 11 =1 e ifsm
I Eimil
(A) " AT (O &= Fawen
(B) el T ) ==
(€ ‘=T (III) =T
D) “‘zEsEEE (IV) =i

i fou U faeul | © GE I #1999 iAo

(1 (A-ID. (B)-(IV). (O)-(D. (D)-(1ID)
@2  (A-dD. B)-D. (O)-aV). (D)-)
(3)  (A)-aV), (B)-(IID), (O)-aD, (D)-D
4  (A)-0D. (B)-d), (C)-AV), (D)-ID

[Question ID = 3109][Question Description = Q71_Museology_ SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11899]
2.2

[Option ID = 11900]
3.3

[Option ID = 11901]
4. 4

[Option ID = 11902]



72) Match List | and List Il
List |

Demand State

(A) No demand

(B) Declining demand

(C) Overfull demand

(D) Full demand

List Il

Marketing task

) Reverse demand through
creative remarketing of the product

(I)  Maintain the current level of
demand

() Find ways to connect the
benefits of the product with potential
consumers’ needs and interests

(IV) Find ways to reduce demand
temporarily or permanently

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(I), (C)-(1V), (D)-(1N)
(2)  (A)-(ln), (B)-(1), (C)-(1V), (D)-(I)
(3)  (A)-(I), (B)-(II), (C)-(IV), (D)-(IN)
(4)  (A)-(ln), (B)-(1), (C)-(ID, (D)-(IV)

-1 % iy g1 1 faem Fifs

-1
(A) = A T
(B) = F = =

(C) wmar | A =i

(D)

o [P

= o U ekl | | @R I R 9 I

(1 (A-dD. (B)-(D. (C)-(IV). (D)-(IIT)
2y  A)-dD. (B)-@). (C)-(1V). (D)-(ID
(3  (A-O. B)-1D), (O)-IV), (D)-(ID)
4  (A)-AID. (B)-[D. (O)-1ID. (D)-IV)

gi-1T
T =
() 3c9% & GoATEF IO fae & wem | w0

(ID) = i Faae fEafa = 5= w@E

S S i S
sl o T @R W A A we we

(IV)

[Question ID = 3110][Question Description = Q72_Museology_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11903]
2.2

[Option ID = 11904]
3.3

[Option ID = 11905]
4. 4

[Option ID = 11906]

73) Match List | and List Il
List |
(Chemicals used for Treatment)
(A) Zinc dust
(B) Cironella ail
(C) HXtal-NYL-1
(D) PEG

List Il

(Type of object)

) Palm leaf
(II) Glass

() Wood

(IV) Bronze



Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(D), (C)-(11), (D)-(lln)
(2)  (A)-(1n, (B)-(I), (C)-(1), (D)-(IV)
(3) (A=, (B)-(ln), (C)-(1V), (D)-(1)
(4)  (A)-(D, (B)-(IV), (C)-(1h), (D)-(1N)

w1 = @y ge-I1 =1 e Fifse .

i1
(A) T5= TEst
(B) T o=
(C) #Fwee vHaTETE-1

(D) . 3. S
= Tou TTU okl | 0 R IO A 999 ST

(1) (A)-av). (B)-(D. (O)-aD. (D)-(IIL)
(2)  (A)-dID. (B)-dI). (C)-(D. (D)-AV)
(3)  (A)-AD. (B)-dII). (O)-IV), (D)-(D
@ A-O. B)-IV), (C)-d1I), (D)-(ID

o

IO
(TmeHT & TER)

@O =

(I1) =fEm

(L) ==t

IV) =g

[Question ID = 3111][Question Description = Q73_Museology_ SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11907]
2.2

[Option ID = 11908]
3.3

[Option ID = 11909]
4. 4

[Option ID = 11910]

74) Match List | and List Il
List |
Type of policy
(A) Marketing policy
(B) Operational policy
(C) Ethics policy

(D) Corporate governance and
compilance policies

List Il
Example
) Policy on core corporate values
()  Product, pricing policy
(lll) Internal audit policies

(IV) Production or service provision
policy

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(1V), (C)-(1), (D)-(ll)
(2)  (A)-(I, (B)-(IV), (C)-(li1), (D)-(1)
(3)  (A)-(IV), (B)-(11D), (C)-(), (D)-(1N)
(4)  (A)-(I, (B)-(1), (C)-(IV), (D)-(lln)

-1 F w111 F1 e Fif
i1
(A)  faoom Hifa

(B) TETAIEEF A1

=10

S
(D) o FRORZ A=EATE | Fatad it
() =aare, g fam Hifg



~

(C) sT=R-T Hadt Hif (III) STt =hE] wiE Hid

(D) =FWaZ ATFIET AT A AT (IV) Sedred =1 Gan Weem i

fr= 20 U e B | HA I S A

1y  (A)-AD. B)-AV), (C)-(D. (D)-IID
(2)  (A)-dD. (B)-(IV). (C)-(IID. (D)-(I)
(3  (A)-av). (B)-ID. (C)-@. (D)-(ID
4 A-aD. B)-@. (O)-IV). (D)-IID

[Question ID = 3112][Question Description = Q74_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11911]
2.2

[Option ID = 11912]
3.3

[Option ID = 11913]
4. 4
[Option ID = 11914]
75) Sequence of activities ideally involved during physical verification of objects in a Museum is as follows :
(A) Give location number inside the storage and furniture
(B) Verify each object with the help of Main Index card and its actual position
(C) Put the location number on the Main Index cards of each object
(D) Organize all the objects in case they are disorganized
Choose the correct answer from the options given below :
(1) (A), (C), (B), (D) (2) (D), (B), (C), (A)

(3) (D), (A), (C), (B) (4) (D), (C), (A), (B)
ol wETerd § SEqAl & Witd® HedTIa % S0 A1Ed Y H UIEE A e e T 2

(A)  UST 3R R % HE st =@ d

(B)  w=A i U9 F el 8 TeAT ae AR sE anias 24t 0 ge |
(C)  wcds 7d = g=F g1 0 T St FEA 3 |

(D) =z =g ot 0 = a1 == gfifsa =i

= fou o fament 1 9 wE T o 9 Fifa

1 A (©).[B). D)
2 @O. 3. ) A
3 @M. A), ). ([B)
@ @M., A). B

[Question ID = 3113][Question Description = Q75_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11915]
2. 2 [Option ID = 11916]
3. 3 [Option ID = 11917]
4. 4 [Option ID = 11918]

76) Put up the international conventions in chronological order



(A) UNESCO convention on the means of prohibiting and preventing the illicit import and transfer of ownership of cultural
property

(B) Convention for the protection of cultural property in the event of armed conflict (the Hague convention)
(C) Convention on International trade in Endangered species of wild Fauna and Flora

(D) Unidroit convention on stolen and illegally exported cultural property

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) (2) (B), (A), (C), (D)

(3) (B), (D), (A), (C) (4) (C), (D), (A), (B)
ARG Feav= 1 FH H T

(A)  TEHaF SIS & e F1 I G W OSTEW SR S B 99 = v FEnm w g

(B) T Ig i Tl O wepias T % T W weEEE (2 E Fee)

(C)  =Twaurd watfadl & g g Ud S9eTid 1 SFayE S L ey

(D) = F T AR W FEH A T W T aeEas oe W gHigEe S

fr= f2u Tu faseT 8 | HE 3w 9 i

(L A). (. (). D)
(2) (B). (A). (C), (D)
(3)  B. D). A.©
4 (O). D). A). B

[Question ID = 3114][Question Description = Q76_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11919]
2. 2 [Option ID = 11920]
3. 3 [Option ID = 11921]
4. 4 [Option ID = 11922]

77) Arrange the following steps invovled in service consumption in order
(A) Evaluation of service performance

(B) Clarify needs and identify alternative service products

(C) Use the service

(D) Awareness of the need

(E) Evaluation of alternative service products

Choose the correct answer from the options given below :

(1) (B), (A), (D), (C), (E) (2) (D), (B), (C), (A), (E)

(3) (D), (B), (E), (A), (C) (4) (D), (B), (E), (C), (A)

AT ITAFT § AMHA EAfAREd F301 F FH H HFgq #ie

(A) T FeE w5 e

(B)  EIA] 1 T2 HA] A Ao WAl TeAE] i TEEE Al

- =

e




(L)) =9l Sl S Sl

(D) HEG ﬁ APT=hdl

(E)  dfoas Ha Seq1g] =1 godia
= T2 o Tl § ® wE 3 1 99A i

1) (B A). D). (O (E
2 (D). ®B).(©). A).(E)
(3) (D). B). (E). (A4).(C)
@ D). (B). (E). (C). A)

[Question ID = 3115][Question Description = Q77_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11923]
2. 2 [Option ID = 11924]
3. 3 [Option ID = 11925]
4. 4 [Option ID = 11926]

78) Arrange the steps given below for acquiring an object for museum
(A) Action taken to accept the object

(B) Enter in the entry register

(C) Enter the detail of the object in the accession register

(D) Give the Accession No. to the object

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C) (2) (B), (D), (A), (C)

(3) (B), (A), (C), (D) (4) (C), (A), (B), (D)

() Tl F w=HiHa = % o T T wE
(B) v afEE § g
(C)  FerHd % e =1 vfamw ufs= 1 foam

(D) =Tl T THHET T US|
= fou v e H§ | W I S 9EA i

(1) (A). (B). D). (C)

(2) (B). (D). (A). (C)

3 B @) (C). D

4 (0. A).B). D)
[Question ID = 3116][Question Description = Q78_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11927]
2. 2 [Option ID = 11928]

3. 3 [Option ID = 11929]
4. 4 [Option ID = 11930]

79) Arrange the following steps involved in organisation of an exhibition

(A) Preparation of alternate design proposals



(B) Feasibility study

(C) Conduct front end analysis

(D) Summative evaluation

(E) Keeping displays relevant and maintained

Choose the correct answer from the options given below :
(1) (), (A), (B), (E), (D) (2) (B), (C), (A), (E), (D)

(3) (A), (B), (D), (C), (E) (4) (C), (B), (A), (E), (D)

Tl 9291 & SIS § B4 aTe 99 =0 6 HEeEy H51

(A)  ERiER TR AT S
(B)  mremal e

(C) ‘weeurs’ fawemy +E0

(D)  AFfd gearEd

(E) W7 1 i v e H

Fr fou o faedt § @ wF IR w9 i

(1 (€. A). (B) (E). D)
(2  (B).(C).(A). (E). (D)
(3  @A).[B). D). (). (E)
4 (C).(B). (A). (E). (D)

[Question ID = 3117][Question Description = Q79_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11931]
2. 2 [Option ID = 11932]
3. 3 [Option ID = 11933]
4. 4 [Option ID = 11934]

80) Arrange in sequence the following steps involved in conservation treatment of paper using leaf-castor equipment
(A) Drying of folio

(B) Testing of ink for bleeding

(C) Preparation of paper pulp

(D) Placement of folio on leaf castor

Choose the correct answer from the options given below :

(1) (A), (C), (B), (D) (2) (C), (D), (A), (B)

(3) (B), (C), (D), (A) (4) (D), (A), (B), (C)

(A T8 = gEE
(B)  =TEI F W= R WA
(C) =T Fl FEl T

(D)  <fF =2t o gl =) T



Hi= fou v el | © E 3 H 999 it
(1  (A).(O).(B). D)
20 (0. (D). A). (B)
(3  (B).(0). D). A
4 (D). (A).®B). (O

[Question ID = 3118][Question Description = Q80_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11935]
2.2

[Option ID = 11936]
3.3

[Option ID = 11937]
4. 4
[Option ID = 11938]
81) Arrange the following steps involed in organising a learning programme for School.
(A) formulate objectives
(B) conduct the learning activities
(C) evaluate the learning
(D) meeting with school teachers
(E) plan learning activities
Choose the correct answer from the options given below :
(1) (€), (E), (B), (A), (D) (2) (D), (A), (B), (C), (E)

(3) (D), (A), (E), (B), (C) (4) (D), (E), (B), (A), (C)
T % Tom FRet stferm Frirm & s1mree | oniee ety = #i gerated o

(&) = el w=e

(B) o™ GEEEem TEeE =
(C) AT =1 g

(D)  =pel Tl & WY Aow

(E)  3iTems el = T

= fou U faweT ¥ | WE I W =9 S

(1) (C). (E). (B). (4). (D)

{2) (D). (A). (B). (C). (E)

(3) (D). (A). (E). (B). (C)

(4) (D). (E). (B). (A). (C)
[Question ID = 3119][Question Description = Q81_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11939]
2. 2 [Option ID = 11940]

3. 3 [Option ID = 11941]
4. 4 [Option ID = 11942]



82) Arrange in sequence of the priority in salvaging the artifacts during flooding in normal cases
(A) Manuscripts

(B) Metal

(C) Coated paper

(D) Textiles

(E) Stone

Choose the correct answer from the options given below :

(1) (A), (©), (E), (D), (B) (2) (D), (A), (C), (E), (B)

(3) (C), (A), (D), (B), (E) (4) (C), (D), (B), (A), (E)

A €Y T g F SFH FelHiadl F 3gH F § AR F F9 B bt w
& S

(B) ug

(C)  =fad #rrs

(D) ==

(E) wom

= fou v et | | 9E 39 % 999 i

(1) (A, (©). (E). D). (B)

(2) (D). Q). (C). (E). (B)

3  (C). ). D). B). (E)

4  (©). D). B). A).(E)
[Question ID = 3120][Question Description = Q82_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11943]
2. 2 [Option ID = 11944]

3. 3 [Option ID = 11945]
4. 4 [Option ID = 11946]

83) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :

Assertion (A) : Display of Human Remains in museums is a matter of concern and has lead to restitution of these objects to
the native society by museums in some countries

Reasons (R) : Every human being requires to rest in dignity after death
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) (2) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(3) (A) is true but (R) is false (4) (A) is false but (R) is true

= 7t A f2u T # - oF afaFeE Assertion (A) % =7 4 fafiga 2 91 750 9% #R01 Reasons (R) &

-

EOH

T (A) TR | A A9 # USEH U faar i 96 2 3 B9 39 A gueeEl g o

TEGAT 1 TS F ATE 2T T2
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(@) (A)FA 7, A (R) 55A 2 |

@) (A) 5= 2, w (R) 779 2

[Question ID = 3121][Question Description = Q83_Museology_SHAAN_20NOV21_S1_Shift2]
. 1 [Option ID = 11947]
2 [Option ID = 11948]
3 [Option ID = 11949]
4 [Option ID = 11950]

A W N -

84) Given below are two statements :

Statement | : In common law countries, the judicial remedies for the return / restitution of stolen cultural property are
based on the common law principle, the English ‘nemo dat rule, which provides that one who purchases property from a
thief, no matter how innocently, acquires no title in the property.

Statement Il : Title remains with the thief.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is correct (4) Statement | is incorrect but Statement Il is correct

= =1 Fee fam e

FoH (D) : @9F f&fg @ 2o 8 9@ Fi T AEFEaw qeng w9 9 /AR F o s

A L o1 o B = e o e 1511 i o o e 1 T = e o e e e e o e B

5 = =t FREl = m  uHi geie F w@liEar 2 @died Jen s =9n e 9 e w, 3m

w9 (ID) : 39 T = S=aed F1 5 T A BT
9 HUT = AT, A9 {30 T el § O e Suge Iut o =g Hifaw

1 FmW @ FR AD I =
@)  w (D) SR A ZH e
(3) = (D) = 7, =i w5 () o F

4 = (D) 7o =, ot e (D) =R R

[Question ID = 3122][Question Description = Q84_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11951]
2 [Option ID = 11952]
3 [Option ID = 11953]
4 [Option ID = 11954]

A wWw N -

85) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :

Assertion (A) : Services offered by for-profit and non profit organizations do not differ in their underlying goals



Reasons (R) : Both want to create value for their various stakeholders
In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A) (2) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(3) (A) is correct but (R) is not correct (4) (A) is not correct but (R) is correct

Hi= 31 FYA f2U T 2 v sAiaEsE Assertion (A) % %9 ¥ feifigd & a1 Faa &% #7 Reasons (R) &

wAfTFeE (A) AT ATUE N A U TEAT 3R A1 T HA 3 AT @E 6 T T8
Bl 2 |
F0 (R) : 2 FH- e Faarw % o e 1 3o we =

IR U AT °, A {58 T e § F weE 3w S 6 wE i

1) (A) 3 R) I T E R (R). (A) F T ==

@) (A 3R ®) I E F, T ®), (A) F wE == = 2
() (AT 2, FF ®) 7 T 2

@ (AT TE R A ®) T 2

[Question ID = 3123][Question Description = Q85_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11955]
2. 2 [Option ID = 11956]
3. 3 [Option ID = 11957]
4. 4 [Option ID = 11958]

86) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion (A) : Packing cases of artifacts are given cushioning material such as foam, etc

Reasons (R) : Objects observe severe jerks during their transportation in trucks, airplane and trolleys

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) (2) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(3) (A) is true but (R) is false (4) (A) is false but (R) is true

Hre 2 e f2u w2 u AfasEus Assertion (A) % ®9 § feiftgd & a1 3901 399 #0 Reasons (R) &

=0 -

wafir (A) : Tl = Ui O H B S TEEER A e E

F (R) : 71, 7S AT R gifer e % 2 aee § 9 5ok o # |
IYLRE YA = AT A, A9 50 0 fahedl 3 ° HE 3 0 =9 i

(1) (A 3 (R) 2F1 57 7 311 (R), (A) =i =& =30 2|

(2)  (A) ¥F (R)FF 707 &, w6 (R). (A) 1 T2 = T g |



(8) (A== 2, @A (R) 39 7 |
4) (A 5= 2, @ (R) 79 21

[Question ID = 3124][Question Description = Q86_Museology_ SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11959]
. 2 [Option ID = 11960]
3 [Option ID = 11961]
4 [Option ID = 11962]

A w N =

87) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion (A) : As soon as an object is collected for museum it should immediately be entered in the accession register

Reasons (R) : The details entered in the accession register are used for deciding whether the object fits within the scope of
the museum

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A) (2) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(3) (A) is correct but (R) is not correct (4) (A) is not correct but (R) is correct

Fr =1 = f2u T # . o sAfaEeE Assertion (A)%Wﬁ%‘f@ﬁ%ﬂﬁ@ﬂ?ﬂ’jﬁm Reasons (R) %

=N
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(1) (A 3R R) 3 T8 £ 30 (R), (A) F 78 =wen 2|

2 (A) i (R) A HA 2, A R), (A) F FE = = 2
(3 QT 2, G (R) T A 2

@) (A FA T 2 = (R) 79 2

[Question ID = 3125][Question Description = Q87_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11963]
2 [Option ID = 11964]
3 [Option ID = 11965]
4 [Option ID = 11966]

A W N -

88) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion (A) : All museum exhibition by their very nature, invariably have some educational content
Reasons (R) : Visitors may learn from exhibitions organised solely for aesthetic or emotive purposes

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A) (2) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(3) (A) is correct but (R) is not correct (4) (A) is not correct but (R) is correct
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[Question ID = 3126][Question Description = Q88_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11967]
2 [Option ID = 11968]
3 [Option ID = 11969]
4 [Option ID = 11970]

A w N =

89) Given below are two statements :

Statement | : Carbon dating can only be done on organic samples.

Statement Il : Carbon dating involves use of two isotopes of carbon, namely C'* and C'3

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is correct (4) Statement | is incorrect but Statement Il is correct

i 31 Fo Tau m #

FYA (D) : A eI Faed o T 0 A A w2
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[Question ID = 3127][Question Description = Q89_Museology_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11971]
2 [Option ID = 11972]
3 [Option ID = 11973]
4 [Option ID = 11974]

A W N -

90) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :



Assertion (A) : In identification of fibres ‘Burn Test’ is usually considered a complimentary technique.
Reasons (R) : ‘Burn Test’ can only differentiate between vegetable and animal fibres.
In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) (2) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(3) (A) is true but (R) is false (4) (A) is false but (R) is true

I 3 Fo L T{U_r} . T ATHRYT Assertion (A) =] H fﬁf@ﬁ% ar FE 34 % FT Reasons (R) B

AR (A) - T i TEEE W W 22 R WHIEA SR aeheTE S S
F (R) : ‘S 252’ “hael IETIaT U A @1 % §EA 99 = I E |

IYTE FUA = AT °, A9 50 T famer 8§ w8 39 1 = i

(1) (A) 3R (R) 37 907 £ 51T (R), (A) 1 =8 = 2|
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3 (AT E, =@ (R) 78 2 |

4)  (A) 3m 2, 9T (R) T 31

[Question ID = 3128][Question Description = Q90_Museology_ SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11975]
2 [Option ID = 11976]
3 [Option ID = 11977]
4 [Option ID = 11978]

A W N -

Topic:- 66Mus_B

1) It is because there is so much variety in the combinations of adhesion and cohesion of dirt, objects and cleaning solutions
that it is necessary for you to use widely varied techniques. A method has to be chosen so that you can attack the dirt
without attacking the object. Sometimes mechanical methods can be used, mechinical force being used to break the bond
between the dirt and the object. In a shipyard for example, a pneumatic hammer might be used to remove rust. This quite
obviously constitutes a brutal attack (though in this case, justifled by the scale of the job): However, all the other, far more
gentle approaches to breaking the bonds between dirt and object, can also be looked upon as some kind of hammering, and
doing so brings out some common features of cleaning techniques and especially highlights the inevitability of damage
during cleaning, A dirty object is one on to which extra material has moved; cleaning is the business of re-moving that extra
material. One class of cleaning techniques, those called mechanical, have in common the method of getting the dirt to
move. All involve arranging a collision between the dirt and some material object. As an analogy think of a sculptor who
uses a variety of tools to remove the superfluous stone (dirt) to reveal the desired form (object). Points and chisels of
increasing fineness are made to collide with the surface and it is hoped that, with each blow, nothing more than the
unwanted material will be struck off. When cleaning an object consider the following questions. Can you arrange only to hit
the dirt? Answer - no. Will hitting the object damage it? Answer - yes. Will the dirt part from the object cleanly? Answer -
maybe. Where will the dirt go to? Answer - back onto the object unless you collect it.

Chemical cleaning is not exempt from the hammering analogy. In Book | you learnt how chemical bonds are broken by
impacts from adjacent molecules. At ordinary temperatures the velocities of molecules are of the order of several
thousands of kilometres per hour. Any solvent or reactant you put on an object and its dirt causes chemical collisions with
both, and although the dirt may come off you can guarantee that some traces of the chemical you have used will have
worked their way into the object. Again, minute damage - but it is there. The useful thing about using chemical collisions is
that they can be chosen to be highly selective; you can arrange to do far greater damage to the dirt than to the object,
provided you know enough chemistry to make a wise choise of cleaning substance.

It should be obvious that gentleness does not so much prevent damage as render it invisible. Damage, to some degree.
occurs what-ever method is used.



HHRIET Ad=oe A Jg H97 = I 4 :

= T, FHdl UH TEE F Hen & AEe 9 HEeH § AAARE [Eedd 5, 98 Aaea
g s & R oo srem-grem o= W o R | iW o= | g oS anfleg R ey et w
HTFAT T B FeF T A T |

Fg FA99U T A et @ own e s g € 99 o wiEg @ s e 9wt
= ¥ % 99 A qst 6 o BeEr S 2| sEerd, e # s R wen % fom =Efew geis o
o s A 3| TOE 9K W F% F WER W AU § oA 2 (FTelith 39 We § W &+ 99 # oEd 3u
HfEer e 2) T, G AN FEHCA o SE weol W oarsd are FF S wHe i A ] T
TR F gAS-TER o 9 T ff 9@ 5 Wl | S T WA GEE FH B a9 o Fe oy feerend
TERfa w7 o A7 fevR gwn w9 % g FFed w1 79 aeh gft | osem w2
FAF a7 B 7 T HlRFd ST S F TS 5, HES A1 39 SlaRd arl # g 2 | 9we WA
i uF it fi THF R AhE Fd E, § vl gu wer W ot 2| 7 mef e § 9w oW B
S o o s G AT WS Fal 7| Wged % w9 H R giiwn s wn F @i S arfsd w9
FAFA T IARA 6 o, AR TR (HF) | geH * o FHF T 6 ST = AH R g |

] B i wEhE | 9o W At Fi S 2 S A St 2 5 yew yer ¥ aifsa
T H B ETer avq e @il | Bl Wl W oure wwd g Fefafad gee w faem 1) s e
FAE gF T WER T G &7 W IR e-A% | ¥ ITG (FHM) W FER FA § T THEH, Tpam 7
I 2 - S F | F DG H T HEE F g g WAl 27 T I g el @ | T B¢ W el ST ?
T ST B9 FFA W, AR AT T TE A E

TEEHE g A1 FER A S H1g¥d ® A 6l 5| TEA 5 A AT HR § TR e AT 6
w9Td ° T IR TS SE9 g S0 2| G @T9EE W AN AT 90 6 FE g el a9
g 2| TR T WS T W e @ AEIw WO WA & A 36 W T g g & 9y
TErTE g 6 i 3o Wl 2wt g9 @ § W] 2 AT 39 91 § AI9eTd @ 99 8 16
AT G AT L T RS % TS 6 T Ferdd $ Ha d9 TE w9 oE 7 | T, a
gii-wg gft 22 2| ToaFs govm = wn w1 % 9R ¥ I 9rd 9% 2 R S 9w wgg g9he g
R S w2, AW S W FElH hl gedl # S91 &fd 9 GHd & A% AT HEE FA are dcd H
qOFER] ¥ TEATe F F o, TEA W A T S g |

77 T4 TUE T =7fR, fR e Fa e f gl w98 aa e 97 sme areEE w6 2|
Fo T TF TH, STAT H @s S arel G W W T 2

For cleaning an object, the method chosen should be capable of attacking

(1) the object (2) both the dirt and the object

(3) the dirt but not the object (4) neither the dirt nor the object

Tt Fomrpid F TTF FH o o T T T [Afg § Feieaiad W TER = A wH G
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[Question ID = 3129][Question Description = Q91_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11979]
2. 2

[Option ID = 11980]
3.3

[Option ID = 11981]
4. 4

[Option ID = 11982]

2) It is because there is so much variety in the combinations of adhesion and cohesion of dirt, objects and cleaning solutions
that it is necessary for you to use widely varied techniques. A method has to be chosen so that you can attack the dirt
without attacking the object. Sometimes mechanical methods can be used, mechinical force being used to break the bond
between the dirt and the object. In a shipyard for example, a pneumatic hammer might be used to remove rust. This quite



obviously constitutes a brutal attack (though in this case, justifled by the scale of the job): However, all the other, far more
gentle approaches to breaking the bonds between dirt and object, can also be looked upon as some kind of hammering, and
doing so brings out some common features of cleaning techniques and especially highlights the inevitability of damage
during cleaning, A dirty object is one on to which extra material has moved; cleaning is the business of re-moving that extra
material. One class of cleaning techniques, those called mechanical, have in common the method of getting the dirt to
move. All involve arranging a collision between the dirt and some material object. As an analogy think of a sculptor who
uses a variety of tools to remove the superfluous stone (dirt) to reveal the desired form (object). Points and chisels of
increasing fineness are made to collide with the surface and it is hoped that, with each blow, nothing more than the
unwanted material will be struck off. When cleaning an object consider the following questions. Can you arrange only to hit
the dirt? Answer - no. Will hitting the object damage it? Answer - yes. Will the dirt part from the object cleanly? Answer -
maybe. Where will the dirt go to? Answer - back onto the object unless you collect it.

Chemical cleaning is not exempt from the hammering analogy. In Book | you learnt how chemical bonds are broken by
impacts from adjacent molecules. At ordinary temperatures the velocities of molecules are of the order of several
thousands of kilometres per hour. Any solvent or reactant you put on an object and its dirt causes chemical collisions with
both, and although the dirt may come off you can guarantee that some traces of the chemical you have used will have
worked their way into the object. Again, minute damage - but it is there. The useful thing about using chemical collisions is
that they can be chosen to be highly selective; you can arrange to do far greater damage to the dirt than to the object,
provided you know enough chemistry to make a wise choise of cleaning substance.

It should be obvious that gentleness does not so much prevent damage as render it invisible. Damage, to some degree.
occurs what-ever method is used.
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Use of pneumatic hammer for removing rust from a ship is an example of
(1) Unethical cleaning (2) Mechanical cleaning

(3) Biological cleaning (4) Chemical cleaning
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3) It is because there is so much variety in the combinations of adhesion and cohesion of dirt, objects and cleaning solutions
that it is necessary for you to use widely varied techniques. A method has to be chosen so that you can attack the dirt
without attacking the object. Sometimes mechanical methods can be used, mechinical force being used to break the bond
between the dirt and the object. In a shipyard for example, a pneumatic hammer might be used to remove rust. This quite
obviously constitutes a brutal attack (though in this case, justifled by the scale of the job): However, all the other, far more
gentle approaches to breaking the bonds between dirt and object, can also be looked upon as some kind of hammering, and
doing so brings out some common features of cleaning techniques and especially highlights the inevitability of damage
during cleaning, A dirty object is one on to which extra material has moved; cleaning is the business of re-moving that extra
material. One class of cleaning techniques, those called mechanical, have in common the method of getting the dirt to
move. All involve arranging a collision between the dirt and some material object. As an analogy think of a sculptor who
uses a variety of tools to remove the superfluous stone (dirt) to reveal the desired form (object). Points and chisels of
increasing fineness are made to collide with the surface and it is hoped that, with each blow, nothing more than the
unwanted material will be struck off. When cleaning an object consider the following questions. Can you arrange only to hit
the dirt? Answer - no. Will hitting the object damage it? Answer - yes. Will the dirt part from the object cleanly? Answer -
maybe. Where will the dirt go to? Answer - back onto the object unless you collect it.

Chemical cleaning is not exempt from the hammering analogy. In Book | you learnt how chemical bonds are broken by
impacts from adjacent molecules. At ordinary temperatures the velocities of molecules are of the order of several
thousands of kilometres per hour. Any solvent or reactant you put on an object and its dirt causes chemical collisions with
both, and although the dirt may come off you can guarantee that some traces of the chemical you have used will have
worked their way into the object. Again, minute damage - but it is there. The useful thing about using chemical collisions is
that they can be chosen to be highly selective; you can arrange to do far greater damage to the dirt than to the object,
provided you know enough chemistry to make a wise choise of cleaning substance.

It should be obvious that gentleness does not so much prevent damage as render it invisible. Damage, to some degree.
occurs what-ever method is used.
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Mechanical methods of cleaning act by
(1) breaking the bond between the dirt and the object (2) dissolving the bond between the dirt and the object

(3) reorganizing the bond between the dirt and the object (4) combining the dirt with mechanical tool
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4) It is because there is so much variety in the combinations of adhesion and cohesion of dirt, objects and cleaning solutions
that it is necessary for you to use widely varied techniques. A method has to be chosen so that you can attack the dirt
without attacking the object. Sometimes mechanical methods can be used, mechinical force being used to break the bond
between the dirt and the object. In a shipyard for example, a pneumatic hammer might be used to remove rust. This quite
obviously constitutes a brutal attack (though in this case, justifled by the scale of the job): However, all the other, far more
gentle approaches to breaking the bonds between dirt and object, can also be looked upon as some kind of hammering, and
doing so brings out some common features of cleaning techniques and especially highlights the inevitability of damage
during cleaning, A dirty object is one on to which extra material has moved; cleaning is the business of re-moving that extra
material. One class of cleaning techniques, those called mechanical, have in common the method of getting the dirt to
move. All involve arranging a collision between the dirt and some material object. As an analogy think of a sculptor who
uses a variety of tools to remove the superfluous stone (dirt) to reveal the desired form (object). Points and chisels of
increasing fineness are made to collide with the surface and it is hoped that, with each blow, nothing more than the
unwanted material will be struck off. When cleaning an object consider the following questions. Can you arrange only to hit
the dirt? Answer - no. Will hitting the object damage it? Answer - yes. Will the dirt part from the object cleanly? Answer -
maybe. Where will the dirt go to? Answer - back onto the object unless you collect it.

Chemical cleaning is not exempt from the hammering analogy. In Book | you learnt how chemical bonds are broken by
impacts from adjacent molecules. At ordinary temperatures the velocities of molecules are of the order of several
thousands of kilometres per hour. Any solvent or reactant you put on an object and its dirt causes chemical collisions with
both, and although the dirt may come off you can guarantee that some traces of the chemical you have used will have
worked their way into the object. Again, minute damage - but it is there. The useful thing about using chemical collisions is
that they can be chosen to be highly selective; you can arrange to do far greater damage to the dirt than to the object,
provided you know enough chemistry to make a wise choise of cleaning substance.

It should be obvious that gentleness does not so much prevent damage as render it invisible. Damage, to some degree.



occurs what-ever method is used.
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One of the advantages of chemical cleaning of an artifact is

(1) it can be done easily by anyone (2) it can be used for all types of dirt and accretions

(3) time involved in cleaning is very less (4) the method can be made highly selective
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5) It is because there is so much variety in the combinations of adhesion and cohesion of dirt, objects and cleaning solutions
that it is necessary for you to use widely varied techniques. A method has to be chosen so that you can attack the dirt
without attacking the object. Sometimes mechanical methods can be used, mechinical force being used to break the bond
between the dirt and the object. In a shipyard for example, a pneumatic hammer might be used to remove rust. This quite
obviously constitutes a brutal attack (though in this case, justifled by the scale of the job): However, all the other, far more
gentle approaches to breaking the bonds between dirt and object, can also be looked upon as some kind of hammering, and
doing so brings out some common features of cleaning techniques and especially highlights the inevitability of damage
during cleaning, A dirty object is one on to which extra material has moved; cleaning is the business of re-moving that extra
material. One class of cleaning techniques, those called mechanical, have in common the method of getting the dirt to
move. All involve arranging a collision between the dirt and some material object. As an analogy think of a sculptor who
uses a variety of tools to remove the superfluous stone (dirt) to reveal the desired form (object). Points and chisels of
increasing fineness are made to collide with the surface and it is hoped that, with each blow, nothing more than the
unwanted material will be struck off. When cleaning an object consider the following questions. Can you arrange only to hit
the dirt? Answer - no. Will hitting the object damage it? Answer - yes. Will the dirt part from the object cleanly? Answer -
maybe. Where will the dirt go to? Answer - back onto the object unless you collect it.

Chemical cleaning is not exempt from the hammering analogy. In Book | you learnt how chemical bonds are broken by
impacts from adjacent molecules. At ordinary temperatures the velocities of molecules are of the order of several
thousands of kilometres per hour. Any solvent or reactant you put on an object and its dirt causes chemical collisions with
both, and although the dirt may come off you can guarantee that some traces of the chemical you have used will have
worked their way into the object. Again, minute damage - but it is there. The useful thing about using chemical collisions is
that they can be chosen to be highly selective; you can arrange to do far greater damage to the dirt than to the object,
provided you know enough chemistry to make a wise choise of cleaning substance.

It should be obvious that gentleness does not so much prevent damage as render it invisible. Damage, to some degree.
occurs what-ever method is used.
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The main conclusion drawn by the author is
(1) Mechanical cleaning results in no damage to the object (2) Chemical cleaning damages the object

(3) Both Mechanical and chemical cleaning are safe for the objects (4) Some damage is inevitable during cleaning
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1) The term museography first appeared in the 18th century (Neikel, 1727) and is older than the word museology. It has
three specific meanings:

Currently museography is essentially defined as the practical or applied aspect of museology, that is to say the techniques
which have been developed to fulfill museal operations, in particular with regard to the planning and fitting out of the
museum premises, conservation, restoration, security and exhibition.

In contrast to museology, the word museography has long been used to identify the practical activities associated with
museums; The term is regularly used in the French-speaking world, but rarely in the English-speaking one, where museum
practice is preferred. Many museologists from Central and Eastern Europe have used the term applied museolpgy, that is to
say, the practical application of techniques resulting from the study of museology, a science undergoing development.

In French the use of the term museography identifies the art (or the techniques) of exhibitions. For some years the term
expography (exhibit design) has been proposed for the techniques involved in exhibitions, whether they are in a museum or
in a non-museal space. Generally speaking, what we call the ‘museographical programme’ covers definition of the contents
of the exhibition and its requirements, as well as the functional links between the exhibition spaces and the other museum
areas. This definition does not mean that museography (museum practice) is defined only by that part of the museum which
is seen by the visitor.

Museographers (museum designers or exhibit designers), like other museum professionals, take into account the scientific
programme and collection management and aim to display the objects selected by the curator in a suitable manner. They
must know methods of conservation and how to inventorize museum objects. They create the scenario for the contents and
propose a form of language which includes additional media to aid understanding. They are concerned with the needs of
the public and employ the communication methods most suitable for putting across the message of the exhibition. Their
role, often as the head of a project, is to coordinate all the scientific and technical specialists working within a museum:
organising them, sometimes clashing with them and arbitrating.
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According to the passage, French speaking countries use which of the following words to identify the practical or applied
aspect of museology

(1) Museum science (2) Museal operations

(3) Scenography (4) Museography
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2) The term museography first appeared in the 18th century (Neikel, 1727) and is older than the word museology. It has
three specific meanings:

Currently museography is essentially defined as the practical or applied aspect of museology, that is to say the techniques
which have been developed to fulfill museal operations, in particular with regard to the planning and fitting out of the
museum premises, conservation, restoration, security and exhibition.

In contrast to museology, the word museography has long been used to identify the practical activities associated with
museums; The term is regularly used in the French-speaking world, but rarely in the English-speaking one, where museum
practice is preferred. Many museologists from Central and Eastern Europe have used the term applied museolpgy, that is to
say, the practical application of techniques resulting from the study of museology, a science undergoing development.

In French the use of the term museography identifies the art (or the techniques) of exhibitions. For some years the term
expography (exhibit design) has been proposed for the techniques involved in exhibitions, whether they are in a museum or
in a non-museal space. Generally speaking, what we call the ‘museographical programme’ covers definition of the contents
of the exhibition and its requirements, as well as the functional links between the exhibition spaces and the other museum
areas. This definition does not mean that museography (museum practice) is defined only by that part of the museum which
is seen by the visitor.

Museographers (museum designers or exhibit designers), like other museum professionals, take into account the scientific
programme and collection management and aim to display the objects selected by the curator in a suitable manner. They
must know methods of conservation and how to inventorize museum objects. They create the scenario for the contents and



propose a form of language which includes additional media to aid understanding. They are concerned with the needs of
the public and employ the communication methods most suitable for putting across the message of the exhibition. Their

role, often as the head of a project, is to coordinate all the scientific and technical specialists working within a museum:
organising them, sometimes clashing with them and arbitrating.
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Expography is the term which generally means
(1) Conservation of museum exhibits (2) Designing of Exhibition in a museum or non-museal space

(3) Exposing the corrupt practices in museums (4) Exposing the archaeological layers of exhibits

TFEITET T52 F T A9 B

(1)  TETeE e 1 e

(2)  HU=EEE HIT IHF W TS i TS

(3) HUEEE % WE-ANEIH TR wA
(4)  wEEEl =i aEgel $i wET WAl ® SAP HE

[Question ID = 3135][Question Description = Q97_Museology_ SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 12003]
2. 2 [Option ID = 12004]
3. 3 [Option ID = 12005]
4. 4 [Option ID = 12006]

3) The term museography first appeared in the 18th century (Neikel, 1727) and is older than the word museology. It has
three specific meanings:



Currently museography is essentially defined as the practical or applied aspect of museology, that is to say the techniques
which have been developed to fulfill museal operations, in particular with regard to the planning and fitting out of the
museum premises, conservation, restoration, security and exhibition.

In contrast to museology, the word museography has long been used to identify the practical activities associated with
museums; The term is regularly used in the French-speaking world, but rarely in the English-speaking one, where museum
practice is preferred. Many museologists from Central and Eastern Europe have used the term applied museolpgy, that is to
say, the practical application of techniques resulting from the study of museology, a science undergoing development.

In French the use of the term museography identifies the art (or the techniques) of exhibitions. For some years the term
expography (exhibit design) has been proposed for the techniques involved in exhibitions, whether they are in a museum or
in a non-museal space. Generally speaking, what we call the ‘museographical programme’ covers definition of the contents
of the exhibition and its requirements, as well as the functional links between the exhibition spaces and the other museum
areas. This definition does not mean that museography (museum practice) is defined only by that part of the museum which
is seen by the visitor.

Museographers (museum designers or exhibit designers), like other museum professionals, take into account the scientific
programme and collection management and aim to display the objects selected by the curator in a suitable manner. They
must know methods of conservation and how to inventorize museum objects. They create the scenario for the contents and
propose a form of language which includes additional media to aid understanding. They are concerned with the needs of
the public and employ the communication methods most suitable for putting across the message of the exhibition. Their
role, often as the head of a project, is to coordinate all the scientific and technical specialists working within a museum:
organising them, sometimes clashing with them and arbitrating.

i T W TR uEE % I S
HfEITE (TUEem wE) Wes wawww 1841 wd (e, 1727) § @fcaes ¥ @ oW AR

Bfemtars (Fuered o) e § o= 2, 39 oF e a9 g

FAAE H PTG Weg HOE: FASEIEs o sqagiih AN FIEEM SETRd Ted & w9 A
TRETST TR ST 2, 9T U GE = e 9ueed Sarer] w6 O o o fatm o g, ey w=®
Hugrer TRE, T, TsEre, WA I WEHT % AEieH i een % Hey ¥ |

FfsrETers = foa, FEaTh se W 9E o G99 a9 GUgied i sqaalid M ieEl & TEen
% Tor fomn T 2| 38 Wee WA FANG €9 ¥ e AN o g ] S 8, e S e A 6
o9 S YEI Tg-FE] F N S g A T GUEed WO ¥sg H WA Al R A 2| Higg A6
& T F FAH Gugred fGErHE 3 AT e dueed ¥me @ wEm e 2, e @ 2 guges
oM = efi ol = T 2 % vwEe § Sor= aAS o oAaari STwE |

%9 ¥ FLETTH I % WA § NERHA % Fel 98 (Fa a9 ) f e wdl 2| I 99 8
TR (WeRHT faeT) Teg R WA WSEH1 A WS a9 % fou wEarfad e o2, =R 9w
TUEred B F A GUEed ¥ OTe, WA FREihee S % e § wewHT 1 fvm-aeg o s
ATIAFAT B I USEHT §F AT TUETE * FT G % S HAHE ST TEETT AT 2 | 39 gREr
o 9% 99 TE % T s (e UFe) Fae gueed % s 97§ TR 7l @ e o
Hawlsht T 2 |

F TUEeE TEel f aiE, FLEE (Tueed Sae R # geel B, dEHe s A
HUE WA T A 4d § AN FLe g TaHd 9eqa H SUEHd ailH O el R o A 9Wd & | 9
mgn fofy ot guzem 6 gege B g wH F R § 99 w9 g k| F Te-awget & yeE
g #d § 3 T99 W seH oq U amws w5, e afoiem meay gafe @ 3, awarfad 9w 8 | 9
A i ATEIRAA h WR H SIS B 8 AN WEEHT % oW H TufNd A % Tom warfrs ITE
gy fafs =1 s wwd § e g SaEs, TRISET % 3 AR % 'Y guged § st 9
AT AN TR GO ¥ GEEg TG FWA FE 00 9K AN FE-FE] I 9y T AN
TEETAl A Wl @il @ |

Who makes the selection of objects that are to be displayed?
(1) Conservator (2) Curator
(3) Museographer (4) Exographer

(1) FFax (2) T
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4) The term museography first appeared in the 18th century (Neikel, 1727) and is older than the word museology. It has
three specific meanings:

Currently museography is essentially defined as the practical or applied aspect of museology, that is to say the techniques
which have been developed to fulfill museal operations, in particular with regard to the planning and fitting out of the
museum premises, conservation, restoration, security and exhibition.

In contrast to museology, the word museography has long been used to identify the practical activities associated with
museums; The term is regularly used in the French-speaking world, but rarely in the English-speaking one, where museum
practice is preferred. Many museologists from Central and Eastern Europe have used the term applied museolpgy, that is to
say, the practical application of techniques resulting from the study of museology, a science undergoing development.

In French the use of the term museography identifies the art (or the techniques) of exhibitions. For some years the term
expography (exhibit design) has been proposed for the techniques involved in exhibitions, whether they are in a museum or
in a non-museal space. Generally speaking, what we call the ‘museographical programme’ covers definition of the contents
of the exhibition and its requirements, as well as the functional links between the exhibition spaces and the other museum
areas. This definition does not mean that museography (museum practice) is defined only by that part of the museum which
is seen by the visitor.

Museographers (museum designers or exhibit designers), like other museum professionals, take into account the scientific
programme and collection management and aim to display the objects selected by the curator in a suitable manner. They
must know methods of conservation and how to inventorize museum objects. They create the scenario for the contents and
propose a form of language which includes additional media to aid understanding. They are concerned with the needs of
the public and employ the communication methods most suitable for putting across the message of the exhibition. Their
role, often as the head of a project, is to coordinate all the scientific and technical specialists working within a museum:
organising them, sometimes clashing with them and arbitrating.
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According to the passage author says museography (Museum practice) is/does
(1) only that part of the museum which is seen by the visitor (2) besides exhibit design, it also takes into account the
Scientific programme and collection management and aim to display the objects selected by the curator in a suitable

manner

(3) not concerned with the needs of the public (4) not employ any Communication method most suitable for putting
across the message of the exhibition
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[Question ID = 3137][Question Description = Q99_Museology_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 12011]
2.2

[Option ID = 12012]
3.3

[Option ID = 12013]
4. 4

[Option ID = 12014]

5) The term museography first appeared in the 18th century (Neikel, 1727) and is older than the word museology. It has
three specific meanings:

Currently museography is essentially defined as the practical or applied aspect of museology, that is to say the techniques
which have been developed to fulfill museal operations, in particular with regard to the planning and fitting out of the
museum premises, conservation, restoration, security and exhibition.

In contrast to museology, the word museography has long been used to identify the practical activities associated with
museums; The term is regularly used in the French-speaking world, but rarely in the English-speaking one, where museum
practice is preferred. Many museologists from Central and Eastern Europe have used the term applied museolpgy, that is to
say, the practical application of techniques resulting from the study of museology, a science undergoing development.

In French the use of the term museography identifies the art (or the techniques) of exhibitions. For some years the term
expography (exhibit design) has been proposed for the techniques involved in exhibitions, whether they are in a museum or
in a non-museal space. Generally speaking, what we call the ‘museographical programme’ covers definition of the contents
of the exhibition and its requirements, as well as the functional links between the exhibition spaces and the other museum
areas. This definition does not mean that museography (museum practice) is defined only by that part of the museum which
is seen by the visitor.

Museographers (museum designers or exhibit designers), like other museum professionals, take into account the scientific
programme and collection management and aim to display the objects selected by the curator in a suitable manner. They
must know methods of conservation and how to inventorize museum objects. They create the scenario for the contents and
propose a form of language which includes additional media to aid understanding. They are concerned with the needs of
the public and employ the communication methods most suitable for putting across the message of the exhibition. Their
role, often as the head of a project, is to coordinate all the scientific and technical specialists working within a museum:
organising them, sometimes clashing with them and arbitrating.
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According to the passage, author is more likely to agree with which of the following statements :

(1) Museographer’s role is often as the head of project to consider all types of technical and scientific aspects in
consultation with experts which may include arguments, disagreements, assisting them in arriving at the best solution (2)
Museographer’s role is often to agree with the conservators, Engineers, Scientific staff while designing the museum

(3) Museographer’s role is only restricted to design of the exhibition in a museum or non museal space
role is to always clash and arbitrate with subject specialists in a museum
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1 [Option ID = 12015]
2 [Option ID = 12016]
3 [Option ID = 12017]
4 [Option ID = 12018]
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1) Read the passage carefully and answer the question that follow

(4) Museographer’s

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and



rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around
(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion



(D) People to people contacts
Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only

IRA it AEFHaH FAld Hiad &, F8 T
(A)  THET

(B) WA A- AT

(C) =AME-HaE

(D) ==t Fo

F= f2u o faeTl 8 9 991 3w ) =99 Fifan

(1) =& (A) 3 (D)
(2) =& (A), (C) 3 (D)
(3) == (B). (C) 3 (D)

(4) == (B) #1 (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]
2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.



India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets
(B) Yoga
(C) Cricket
(D) Ramayan
(E) Sanskrit
Choose the correct answer from the options given below :
(1) (A) only (2) (A), (B), (C) and (D) only
(3) (A) and (D) only (4) (A), (B), (D) and (E) only
R T A -E - % W - -we #
(&) sigEa
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(C) Toere
(D) TEET
(E) #EFd

= fau Tu fomeT | W HE 3w = i

(1) == (A) (2)  Fa9 (A). (B). (C) 7R (D)
(3) = (A) #F (D) (4) Faa (A), (B) 377 (E)

[Question ID = 3558][Question Description = Q47_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13695]
2 [Option ID = 13696]
3 [Option ID = 13697]
4 [Option ID = 13698]

AN wnN -

3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Tamofa 77
Which of the following is not reflective of India’s soft power status?
(1) Digital India (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy

freafafaa & 5 %1 e i 9z wiie-feafa # yefie 76 #wa 27
() s = (2) Foa YA
(8)  =AME-TEEA (4) =m-FAlfa

[Question ID = 3559][Question Description = Q48_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13699]
. 2 [Option ID = 13700]
. 3 [Option ID = 13701]
4 [Option ID = 13702]

A W N =

4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.

it T 1 afer st e fou e aeei w0 o it

W, FE, I, AEE, AF-TEE, Wd, FeA-Fe, SE-ug, o $i sened & Eva #
e 3 GUSE B ¥ UF 2 {5 OHEG ®U § CHd AFE GEaT F w9 0 S A 2w S F
oM & fou wwa 6 aEstas faoEa Ton w0 owE 21 uwe fioafea g sir-gd-vfin # oA
T & F WIS SR HEhd § SHE OHEA 7| 46 S SaE AN AT IoE § gl el 2 A
TH-TTEcT 1 (2007 | 2| T =lam-g=g—viomn § T9=W SERg @ T9E 9HeaT 2



Wmﬂm'ﬁmﬂmffwww G -TEF(0 & AT TaE T THET 7| FHAEE G 1
TF wEd wS1 THEV-TS 7 W s ﬂkmﬁwmﬁm*lmwmmw
Taqduﬁ EUEEe eI Uaémﬂ—ﬁmwumﬁﬂa AT 2| TER HEAT 7 TS SO % G
nﬁmﬁ%mnwﬁﬁwﬁwwaﬂ$ma%ﬁmaamﬁmm\ﬂﬁﬁ—mﬂwmm
AT ST TAT B | UTHTE - ATREIE SIS b HEE S9 % Hed whed, [, faee, g, @9, e
SR AT F A 6 WEHE AEE-TEE W TR TeEr o s )

aqra f1 T wfw-foafa, =9 % @y aem-gem 2| sfEu-gd-uoEn 8 dtg 55 96T #3989 o
E
3!.3_4\ f_al

o wemrEE Zoi A HiEE ufEsET (REgE) SO e Eears o Sisdl # $E AU aeh g
IHH W A0 E, T TR -d1g W SR UE "9 AEE % 9, e S weeAE & g
T T R | AT T WA FAA 2T S Ui e F1 2| HEA A - % FE # i
T Bl UUA % ¢ aER-Tsfaee sfea, =R-Had s AM-FAld F qEEH § G998 ¥9 § 9
T 2

qumtﬁmm—mmwﬁ%ﬁwﬂmmﬁ F7TH HUsen AR T
T T i fi o F Al w0 W AEeyY gE-dtae * favesd el @ St

-~

et

e

i

Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(C) Tourism

(D) Yoga

(E) Education

Choose the correct answer from the options given below :

(1) (A), (C), (D) and (E) only (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only (4) (B), (C), (D) and (E) only

-

SETE HI-FHIA AR & T <91 F1 AEHaF TEH-T2H F-T5 &1 5 27

&) guad

(B) -mIfEe
(C) =

D) =

(E) foram

4= o 7o fopet 9 © = I == iR

(1) === (A). (C), (D) # (E) (2) =Ha= (A). (B). (C) 31 (E)
(3)  Hae (A). (B) #1 (E) (4) =Haw (B). (O). (D) ¥R (E)

[Question ID = 3560][Question Description = Q49_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13703]
2 [Option ID = 13704]
3 [Option ID = 13705]
4 [Option ID = 13706]

A WN -

5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the



people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries
(3) India’s cultural hegemony

(4) India’s relations with BRICS countries
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(3)  WAa = TEHAE duar
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[Question ID = 3561][Question Description = Q50_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13707]
2. 2 [Option ID = 13708]
3. 3 [Option ID = 13709]
4. 4 [Option ID = 13710]

Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.3
Auguat 22% 4:5
September 25% 3:2
October 8% Wk
November 12% i
December 16% 7:9

FreAitea Ao 1 w9 @ 20 Tomd v fagkan % g S=0E 2019 ° feomsw 2019 7% == o sl @
% foao &1 wfawmar @ HP @1 DELL #0af+=1 & @99 s1ata 7 ffia i @t % &= =1 oqgom
F9ET T 7| S arad | T gt G @ i 3 @e 45,000 (Farfow wAR) 21 e § fau o
HATHS o AR T UTH T I D

A1 TR R HTRE - T T

DELL i
FeATS 17% 8:7
BT 22% 4:5
T 25% 3:2
T 8% T:5
AT 12% 7:8
e 16% 7:9

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119 : 130

DELL %0t = g seis 331 faasn § s ffs woorst i g =0 sigar o= 27

(1) 119: 145 (2) 116:135
(3) 119:136 (4 119:130



[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) Gonsider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Augusat 22% 4:5
September 25% 3:2
October 8% 18
November 12% il
December 16% i)

freifra arferm i =9 @ 3@ foaed v faghan & g 9oE 2019 @ 3o 2019 7% 5= o G50 o
% famo #t afawma a1 HP @i DELL #0af31 & TaW w3t 8 fashim il ool + g 1 emua
FurtEr T 7| g st | e adt fsf gt i we we 45,000 (darfem g 21 e | fag e
TS F HTUR T 977 FH IH 3

DELL =i
TeTTE 17% 8:7
el e 22% 4:5
T 25% 32
Tz 8% 7:5
JaE 12% T8
Lt t==t 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

ST FaEs # HP #091 % 356% ol wor gz wn s e o1 36 wde # HP we & e S s

forr 2 = &= 7

(1) 882 (2) 1635
(3) 1638 (4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]



3) Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% ik
October 8% W
November 12% i
December 16% e

faeAifene afern 1 w9 © 2 fogd sk faghar = gy 9enms 2019 ° f2asw 2019 9% == 7o Fsft g
% fagmo it wfgemar 9o HP W DELL #maf-=1 & @9+ #i=ta 1 g e @t = i #1 aqem
Fon T 7| g aradt | T adt S @ i 3w @e 45,000 (Farfom wAw) 20 e @ fro o
TS AR T UTH I D

A1 TR R AT - T e

DELL =i
I 17% 8:7
T 22% 4:5
faae 25% 3:2
AFZAR 8% 7:5
EE=H 12% 7:8
femm 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

R e % == DELL =0 = feshar 4 oed F1 @ o . 433 % g we R A ww wee

T fagran 1 e oy T ?

(1) ¥ 6.49.900 (2) ¥6.45.900
(3) £6.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13719]
2. 2 [Option ID = 13720]
3. 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4)  Consider the following table that shows the percentage (%) distmbution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question



Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% d
October 8% W
November 12% il
December 16% e

faeAifene afern 1 w9 © 2 fogd sk faghar = gy 9enms 2019 ° f2asw 2019 9% == 7o Fsft g
% fagmo it wfgemar 9o HP W DELL #maf-=1 & @9+ #i=ta 1 g e @t = i #1 aqem
Fon T 7| g aradt | T adt S @ i 3w @e 45,000 (Farfom wAw) 20 e @ fro o
TS AR T UTH I D

Tt TRl = AT - T v e

DELL =i
I 17% 8:7
T 22% 4:5
faae 25% 3:2
AFZAR 8% 7:5
EE=H 12% 7:8
femm 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

A % WA ° HP F0H1 & g s e {4 @t #i we fgeen & g8H ° HP FeEi & gen s T

(D 110% (2) 140%
(3 150% 4y 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL
T~ 1705 Q@ . 7




Auguat 22% 4:5
September 25% it
October 8% ih
November 12% il
December 16% e

faeAifene afern 1 w9 © 2 fogd sk faghar = gy 9enms 2019 ° f2asw 2019 9% == 7o Fsft g
% fagmo it wfgemar 9o HP W DELL #maf-=1 & @9+ #i=ta 1 g e @t = i #1 aqem
Fon T 7| g aradt | T adt S @ i 3w @e 45,000 (Farfom wAw) 20 e @ fro o
HATHS *F AW T 9T H IH A

Tt TRl = AT - T v e

Tereror =i wfereremT HP =i

DELL =i

I 17% 8:7
T 22% 4:5
faae 25% 3:2
AFZAR 8% 7:5
EE=H 12% 7:8
femm 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

3TE wE fHasse g ®EAl § DELL =001 = GET S 70 el Tl S0l s S5 6 B ¢

(1) 10000 (2) 15000

(3) 10500 (4) 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

foreqm = ToFm T T ATTEIEATCES (9 o 3999 i GaAY HEE S 2 7

(1) Thw (2) @S T

(3) faoefi-fagg = (4) =g fTEm =



[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

frmfefign fafiearsit # & # w1 sqaen s fra o0 T 2
(A) ==

(B) foerm-r-qaifaam

(C) =g Tarfasman

(D) 93 —gEar

(E) Tzam

=t fou o fomei @ ° wE 3= w1 =me i

(1) =& (A), (B) 371 (C)
(2) A (A). (C) 377 (D)
(3) e (B). (C) 377 (D)
(4)  FAA (C). (D) 31 (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I) Compares one student with another student

(B) Summative Evaluation (lI) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(V), (B)-(ll1), (C)-(1), (D)-(11)  (2) (A)-(1), (B)-(IV), (C)-(II), (D)-(1)

(3) (A)-(I), (B)-(), (C)-(li), (D)-(IV)  (4) (A)-(D), (B)-(I), (C)-(IV), (D)-(IlN)

TqHt-1 % |1 geAi-I1 7 e Fifsm) 9o =t goar 1 fatis aglaat 1 2, 98 5ot g 55 arfifs
=& i 2| ge-1 vd g1 1 faerm =)

-1 LI

T - ELREE
(A)  TmiomeF geEr (D) v feemeft 1 g famnefi & gemn Fan 2
(B) HFeHIHF Hoareh (1D vw faensft i gom @ foifa = @

FAT Bl



(C) T=+9 FgrHd goars (IIT) 99HT: FATFTH shi ATHION 09 374999 +F

=

(D) W= Hafda g (IV) wyga: fooa wie % goffor 29 w5
g
?{l?n(:l

Hi= fou Tu fahet 9 @ wE 39 R == it

1 (A)-AV). (B)-ID). (C)-(I). (D)«(I)
@ (A-AID. (B)-AV). (C)-ID). (D)D)
(3)  (A)-AD, B)-(D). (C)«(IID). (D)-AV)
@) (A)-D). (B)-(ID). (C)(IV), (D)-(II)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 21 A few o E

F (1) : e = wdt (wifaetier) e =1 v geya fogea & & T Faw asfifas H

T TE g Aw A9 A # gy StEd B =

Fo (1) : foren % qafimmoETE fEm am % sEn o gEtsE =Een f[ves =1 9 Tt
_F-.ﬁ:ﬁ g EQ B8

ITE HIE & ATF H, 9 5 T e d o wEl 3 % == it

(1) == (I) 37 (II) g1 &g 2
(2)  =yE (D) ¥R (1) 21 7| &

(3)  u= (1) Ged 2, witeed =9 (II) #10ed 2

4) 9 (I) AEeT 2, =itk e (I0) 9e9 &

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

e 2 #o fu e B v AfHEeE (Assertion A) % =0 H foifigd & o ?\HTFTH%FEEH'UT (Reazon R)
ETH -

AR (A) : e, foieeh w9 wifereEAl % HeS wHiETCHE U TEAHE GEE H FEEe
FA1 B, ¥ T AEIA A w4 i 2



FI (R) : “SIEYE U AT 21 A B SAEE-USE W T W e 26

SO FYA1 AN H, 9 {30 T fael § @ #eE 3uge 3T o 999 AT

(1) (A) s (R) ZHT =2 F 3fi (R). (A) 1 @8l = 2

(2)  (A) 3 (R) A T, T (R), (A) i FE = w5 2
(3) (A=A &, =FA (R) 781 77 7

@) (A= FE R, @ (R) FE R

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freferfaa omal 8 @ Frag Ay A S T & T R S A0

(1)  ==T-37a-gara (2) FmaIiE FE
(3) LI o (4) TETTEEE e

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) ldentify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

Fr= 3 = famaret @ | qonen sy i TEEE #)

(A)  =E ufagrfl & qftsm § 921 % weey o geaiead B

(B)  SEH T HET WG & WHEISE 9% el TF aEqH8 J09 ¥ 9E = B

(C)  =vemsff om A1 Yoo gl 7 e w2t = )
(D)  =enefl g=E o w=a & AU o9 w9 W aemEE o o A

(E) 8% womet ua wiy-uiERa 291 § ST 2 g

Hi fau U famedi @ ® @ 3T w1 =84 it

(1) a9 (A). (C) 7R (E)
(2) =& (A). (B) 377 (C)
(3) %A (B). (C) 27 (D)

(4) == (C), (D) 3 (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4[Option ID = 13758]



8) Match List | with List Il :

List | List Il

Methods of research Features emphasized

(A) Experimental (l) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (Il) Status of facts and conditions are ascertained

(C) Descriptive (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(h, (B)-(11), (C)-(lin), (D)-(IV)  (2) (A)-(11), (B)-(1), (C)-(IV), (D)-(ll1)

(3) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)  (4) (A)-(IV), (B)-(ll1), (C)-(1), (D)-(11)

-1 % =g -1 F1 Toerm Ff=e
I T=i-1T
7Y TGl = T
(A) TETTIHRE () =TafF HEE=A T 96 od 7% Mams 0
et =it 1 wEE 2
(B) M (II) wifegfaai va @z 1 fFafa gEEs
AT 2|
(C) avHHS (ITI) &8 =X 9 U9E @A F o8 o =0 H 2
T = 2|
(D) UfTETE (IV) fows 1 #9W od 7@ AmE A9 59

FF AT T T 2l
= 5 T e | wE I R 99 Fa

(1) (A)-(I). (B)-(IL). (C)-(III). (D)-(IV)
(2) (A)-(IT). (B)-(I). (C)-(IV). (D)-(I1I)
(3) (A)-(III). (B)-(IV). (C)-(IT). (D)-(I)
(4 (A)-(IV). (B)-(III). (C)-(I). (D)-(ID)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 3 e fRe T B -

Fo7 (D) FATHYH H TEA-TATAu Uk qF w5 B HA0 S HEE - SR 1
Fo (IT) : FIHI & AT TF 0 B A LA meE w2

IRIF FUF F ATAF H, S @2 T FEe § 9 HE 39 F 999 i

(1) = (D) = (ID) 21 909 &

(2) = (1) 3R (ID) H #5ea &

(3) A () "em 2, =T FyA (1) 15 2

(4) = (1) 58T 7, AfFA w99 (1D @3 2



[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

Hi= =2 e 13T U E v AfHeeE (Assertion A) % €9 # foifiad & o i 0% F7 (Reason R) =

EOH :

AR (A) : 7o R Ot (Te) T #R A W £ A SHEaEal e
(w=ry) =i & 9 2

F (R) : frhfie gfehes (Uso) s | qished T & 3 var (UH) O B % HE

STHAHFA! 1 GieheaT HH 6 affa § am st 2)
YR AT % e °, = T e fameat @ O wem uges 3w o =E i

(1) (A) 3 (R) ZFT =@ F 31 (R). (A) =1 wdf = 2

(2) (AR (R) 2F1 wE E, SR (R), (A) Fit T8 = T8 2
(3) (&)@ 2, AFA (R) =Et 76 7

4)  (A)TAE FE R, FE (R) wE R

[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769]
4. 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

faefefiga @ @+ wuE g6a 51 =9 33w 2 ee smE-sEs (), =22 (), 9o (afegm)
wir fam (wist) =1 wam e 27

(1) == iy 7isa (2) T T
(3)  HUHAT WA (4) T Em

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13771]

2. 2 [Option ID = 13772]

3. 3 [Option ID = 13773]

4. 4 [Option ID = 13774]

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.



(4) (A) is not correct but (R) is correct.
A= o1 U U U F : wF AMHETA (Assertion A) % B9 H feiima 7 A THT 35E o+ =0 (Reason R)

=T

AFYA (A) : TN % HeH W SEUTTERF UEA Miee® SH IeTed 4l & 9 Iiesd -
(F=-=m=) Fad B

FE0 (R) QI T FAANEF TH F [@09F 991 F =G MEew - 5 2
I A % A 9, 94 T e e O 8 mes Iug I R 5 fife

1) (A) ¥R (R) =F = F ¥R R), (A) F o = E
(2) (A =R (R)TH 98 7, I (R). (A) Fi 78 == 7 2
(3) (A @A R, @A (R) w8 7 2
(4) (A THE T 2, witE (R) w9 2
[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

Hiw 1 =ye lgw u -

FH () AT it HEE B A wegl i 9A AEvEE 2
Fg (1D : Hifgs 99 T3 S FEA-TEE F S 2

INTE FUA = S °, A9 50 0 e § ° w8 39 1 = i

(1) w\ (D) 3R (ID) 39 93 &
(2) = (1) 3R (1D 3 e &
(3)  wA (I) =ed 2, =i =9 (ID) 319 2

(4) == (I) w5 2, wifeh 9 (II) oe9 2

[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13779]
2 [Option ID = 13780]
3 [Option ID = 13781]
4 [Option ID = 13782]

AW N -

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas



(E) Logical sequence

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

Sifafa g=ht § o Femo i araeT w TEEe -
(A) T

(B)  IutEd sgm

(C) @9 va fa=m = Feag =

(D) == ud o= =i e —ag +=e

(E) i %9

A fou v fasheql @ ® @ 3T W =Ee it

(1)  Fad (A) = (B)
(2)  Fa= (B) #1 (C)
(3) A (C) #W (D)
(4) == (D) #i (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13783]
2.2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (I) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (Il) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (V) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(h, (B)-(11), (C)-(1V), (D)-(lI1)  (2) (A)-(11), (B)-(1), (C)-(lD), (D)-(IV)

(3) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (4) (A)-(IV), (B)-(ll1), (C)-(I1), (D)-(1)

T=f-1 F Ty gA-11 =1 frem i
H?«I':T-I qftﬁ-II

(A)  STEFITH FE (I) ©E % H3Edl H HE ch SATEvEhdl i
T FH = T T § wa 7|

(B) SfTTEH T (II) FE-wF=77 & @ &F ° © I9Ent
HTEE AT B

(C) aifas weg (IIT) =dme fowal va gmenar i ufqgfe % @y
=pafeaq 4 2

(D) TM-TTEA TET (IV) Tt off oo = 72 wd-mmEE @EEm
T =l

4= feu T =Tl § © TE1 3T & =999 Firan

(1) (A)-(D. (B)-(II). (C)-(IV), (D)-(I1I)
() (AV-(TID). (By-(I). (CH-(IIT). (Dy-(ITV)



(3) (A)-(IID). (B)-(AV). (C)-(D. (D)-(1D)
4) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

I e, fasanes #1 25% 2 a1 oy it afawaar # B 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?
(1) 5% (2) 10%
(3) 15% (4) 20%
u fagar 26 el 9=w T 20/FF % 9 W wiE w30 g6 TR W 30 e =Ee fen 5w e
304 %, 36 /FFe & W wle o1 3R 5w wen fafim gu aee # w30/ F W osa 2 5 A
=1 afqeran #0757

(1) 5% (2y 10%

(3) 15% 4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33  (4) 166.66

uF go-foed 7. X/ % 7 W 39 wii % 5. 02X/ F | W sl 2| 9eeE 36 9w 2 wie o

TeIF 6 T TG 39 # fHen 47 7| 36 @rd Y wfewman @ 2 7

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3R Q i sitwa @ifes A 5050 #94 &, Q ¥R R i sitaa @it s 6250 w93 @91 P @i R i

aTtad B 1T 5200 w99 2| P i orfas am faad weft e



(1) 3.000/- = (2) 3,500/- ¥4

(3)  4.000/- %97 (4) 4,500/ %52

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3) 25 (4) 30

4 FEE] 1 FEd 20 2 99 YEe! T WY 3 FEAiEl & 0 6 1/3 B Ugel! gy %1 qE 9= 8 ¢

(1) 15 (2) 20

(3) 25 (4 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21 i § aE ; : ; :
) According to Naiwvayvikas we ascertain the relation of umiversal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of essential
1dentity between x and v

(B) By perceiving that in all cases the presence of x 1s accompanied by the presence of ¥

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and v

(D) By not percelving any Instance where the presence of x 1s not accompanied by the
presence of y or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (D) and (C) only

(3) (B) and (D) only

(4) (A). (B) and (C) only

FEATH % SFAT 70 x AN y B AEYTEF T B H gEed w2

(A)  x 3R y = S SIREE A AUET TRl B gy a5 W A 59 S a9
|

(B)  mi aitfeatan 7 x Fi mfeata & @y y $1 il w0 wg9a #2531 ey w1

(C) =8 "mg H a4 gfvaa = 5% 7 99 =29 x 91 y F S FE-HE0 HeEg gHivad H A |

(D)  x i zufeata & =g y Fi sEefeata oy £ et F o o foageteats = FE 9@ogee

I T FH|
4 15U e fawedi 6 O HE I B =599 Hiie

(1) === (4) 31 (0)

(2)  =a= (D) #E (C)

Fis k% & D AariN MU



ety

(4)

ALY AP S A

Fae (A). (B) 31 (C)

[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]
3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

List IT
(I)  The property being inferred
(IT) Locus of hetu and Sadhya
(III) Sign or reason

(IV) Univerczal concomitance

(I)  Tored =1 FATHM
(IT) #q T T =1 w0

(III) Hehd YT FH0

22) Match List I with List II ;
List I
(A)  Vyapti
(B) Linga
(C) Sadhya
(D) Paksa
Choose the correct answer from the options given below :
(1) (A)-(I). (B)-(I1I). (C)-(IT). (D)-(IV)
(2) (A)-(II). (B)-(IIT). (C)-(I). (D)-(IV)
(3) (A)-(IV), (B)-(III). (C)-(I). (D)-(1I)
(4) (A)-ID). (B)-(T). (C)-(IV), (D)-(II)
T=H-1 % T g=H-11 =1 faerm Hifsm
F=11 11
(A) =aH
(B) Temm
(C) ==
(Dy w=&@

I T2 o famedl © H wE 3 =8 it

(1)
(2)
(3)
(4)

(A)-(T). (B)-(IIT), (C)-(IT), (D)-(IV)
(A)-(ID), (B)-(IID), (C)-(I), (D)-(IV)
(A)-(IV). (B)-(I1I). (C)-(I). (D)-(ID)
(A)-(I1L). (B)-(D). (C)-(IV), (D)-(II)

(IV) =Estias wemtaa

[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]
3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) Given below are two statements :

Statement I :

Statement II :

According to Claszsical Indian Logic the fallacies (hetvabhasa) are not

errors of inference, but rather hindrances to inference.

A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which, if

recognized. would prevent the inferential cognition from arizing.



In the light of the above statements. Choose the correct answer from the options given

below :

(1) Both Statement I and Statement IT are true.
(2) Both Statement I and Statement IT are false.
(3) Statement I is true but Statement II 1= falze.

(4) Statement I 1s false but Statement II is true.

=2 2 e faw m -

F9 (D) : AT Yof AERIITE o AT SeATHE SN 1 S T8 AU sHauE 2
Fa (1) : e IRE e o o S e e e B 2 L2 s A L 1 e e B | s e i el
=1 3eqta = FER F= 2)

IRIF FUF F ATAF |, = @ 0 FEeT 4§ " 39 w0 = i

(1) == (1) = (1) 31 79 7

(2 =R (I) 3R 1) A s@e £

(3) == (I) Ged 2, =it =9 (II) #8T 2
(4) = (1) 8T 2, wifeha FoA (1) Tc3 2

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
4 [Option ID = 13822]

A W N -

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘“No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) “‘Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) ‘‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

“Hord: Bt THAEE] TS UH TH § W] aaite wadeal S B 98l wd 2|7 sreifafad w8 F i
1 FYA IWF % T4 T T 27

(1) = o gofa: FudEE IO UE @A A 2 S At Sdear w1 @iad war 2] 2w T weE
=1 77 Uidaida a1 & S A1 €9 ° THge9 B

(2) = O TAAEE A UE OIS 6 2 S S9iE Tadal w0 Ted w2l 2T T s
=1 77 Aiaatdd a9 & AR qif 59 8 Faeged &

(3) =% ueia: GuAEE QAT UH HATS 2 S A4t e siad w0 2| By T e w5 oAy aiase
AT & HR A1 B0 9 5 2
et 919 2 3N I 9 H THge B

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13823]
2 [Option ID = 13824]
3 [Option ID = 13825]
4 [Option ID = 13826]

A w N =



25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

31 fastteEl =T # 36

(1)  wh, gt %1 99 Hedl & 91 T 36 2

(2) 3R, S GeA B TFAl & AR 21 HEcT TR B WA

(3) oW I e AR fagw ug 9w E, va o otk A ot aem 2

(4) W I 3579 AR U wuE 2 @R T Feadt 9en 91 i 2 g e 1 i 3

[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]
3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

9 §E1 67.625 =1 fgamar @uges # 21

(1) 1000010 . 110 (2) 1000011.110
(3) 1000010 . 101 (4) 1000011 . 101

[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (A), (C) (2) (C), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

UFIT ZH F A ° TEd 7 Oed o § #ed i, T & o & 50 T #E 0 8 we w0 f ge=e
|

(A) 9

(B) A== 3153
(C) g, W=
(D) wETHE.

Hi f2u Tu fapeat 5 ® wE 3T R =EA i

(1) (B). (D). (A), (C)
(2) (C). (D). (A). (B)
(3) (A). (B). (C), (D)
(4) (0. (A). (D). (B)



[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

et 31 o fqg e #

#9549 (I) : TR, H, w1 A 2 - HiEE e s wea
=99 (1D : TH. 3504 CAR. DU, F GAeE 2 - el deH @ Ufdad-wi B T UHsfiE
ATEEH

TN HUE * AT §, A= 3 T e § 3 wE 39 W = i

(1) = (@) 3R 1) 2 7 2
(2) = (D) 3 (D) g1 @rEe &

(3)  =wuF (I) Ged 2, it =9 (1) s6cg 2

(4) = (I) 38 7, = %9 (1) 903 2

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

fAfetfias § # ®A-1 # U AT da H ee w@ A, Fi g § w27
(A) ATIF FEES TF TR
(B) HH-==9 grad

(C) Twgul 291 § sigat Fafohegehia fore

= f2u U faweT § | wEl 39 o =5 FIA

(1)  (A), (B) 3 (C)
(2) e (A) 3T (C)
(3) == (B) ®#1 (C)

(4)  FAE (A) 30 (B)



[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (l) Semantic Web

(B) Web 2.0 (ll) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (2) (A)-(11), (B)-(I), (C)-(1V), (D)-(11)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI)  (4) (A)-(IV), (B)-(ll1), (C)-(1), (D)-(11)

-1 % =y =11 1 faee Fif

I T

TR 13 faamm
(A) T=EI.TATE. () == A
(B) =% 2.0 (I) &/ Fed 5 5 fofu S92 1 Tan
(C) 3% 3.0 (IT) 39 = 1 799 5 fom 7 1 78 am
(D) =30 s, (IV) =Hietamrfea 99

Hr= f2u o el 8 | @ 9 R =me i

(1) (A)-(IID). (B)-(AV). (C)-(D. (D)-(1D)
(2) (AT, (B)-(I). (C)-IV). (D)-(IT)
(3)  (A)-dD. (B)-(IV). (C)«(I). (D)-(IIT)
(4) (A)-(TV). (B)-(IIT). (C)-(T), (D)~(IT)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

2 21 e faw T # -

w97 (1) : T TS W AAEE TE A D 4Em-9 & WY-TY AEas-ERe W
T 2
w10 : HREE SR, A-T & wE | 1w 2

ITURE YA A A, F= 5 e e § 8 w8 3w == i

(1) =3 (1) 31 (ID) 2 @3 &

(2) = (1) 3 (ID) 3T 378 2

2, =7, = - e



(o) A (L) HSA T, S w9 (L) JAEE &

(4) = (1) 58 2, fFA %99 (1) 77 2

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

feferfiga 3 =@ ®i9 @1 39 30 i @z i aEar g Gy & 5y 9% @n-ag-Sa-IwE T H

otz d HEm R Y

a

(1) =HA (2)y 9ra
(3)  srefem (4) #HIF-w=

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

I/ 7 e BT U # : TF T9FYA (Assertion A) ¥ €9 ® fofad & B 3% A0 (Reason R) &

HFEA (A) : Femfi e @ (| S ) i i 2g v T s
FT (R) F= TH.ILHA, waEmEg B

IR A % A °, A= B fameat # | wes s 39 a0 99 i

(1) (A) 3 (R) ZH T8t B 3117 (R). (A) Ft wat = &

(2)  (A) 3R (R) 2 T E, S (R), (A) F T@ == a6 2

(3) (A 2, @A (R) |E 76 7

@) (AT FE R, @ (R) wE R

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13859]
2.2

[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :



(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

O

H @ A e T # ; uw afEEeE (Assertion A) % ®W H feiv@d 2 1 gEU 3@+ w0 (Reason R) %

=Y
TR (A) AT 317 T F T4 F TR SR AEgagn fifestas-aa w5 e f s
b o O o i EX
GAE AT H 9EAlad =/ 1347 & |
F (R): A F AAE H 7 T A iEe siEa 2

SUU HUAT % ST H, Ard (G0 0 fahedi § H WE 39 1 99 I

(1) (A R (R) =H T4 7 37 (R). (A) Ft 77 =men 2

(2)  (A) ¥R (R) TH &eF £, w5 (R). (A) 1 8 =2men 76 2

(3) (AT 7, @fF (R) T8 o5 2

4) (A 3\ TE 7, A0 (R)TA B

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1)~ 57% (2) ~ 42%
(3) -~ 37% (4) - 28%

(1)  ~57% (@) ~42%
(3) ~37% (4) ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

feafafas § 19 o1 go9 291 T § w948 ¥9 § dvdi &g gatdy o w e e

(1)  ©%a "G 974 (2) =% AFaS g4
(3)  aE (4)  FTeH-Higar

[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13871]



2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4. 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

ot & i vm, w adeE B -

(1)  ==1e| 5%s Hzel iy (2) =aTEH =S wiee faeen
(3) Tl 9IS ATE HisS ThiE (4) IS 9IS HF Gezel T-HH

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13875]
2 [Option ID = 13876]
3 [Option ID = 13877]
4 [Option ID = 13878]

A W N -

38) COVID-19 acronym stands for
(1) Corona Virus Disease 2019
(2) Corona Virus Disease strain 19
(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FifTE-19 =0 gaew 2 -

(1) =i =nstE Swie 317 2019

(2)  FHO anEE I 2 19

(3)  =AET ATy feame S7F 2019

(4) = anEE TS w1 2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13879]
2.2

[Option ID = 13880]
3.3

[Option ID = 13881]
4. 4

[Option ID = 13882]
39) NITI Aayog is

(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Fifa (NITL) =340 =1 Hees & -
(1) 5o s=ege Bz sfea

(3) I eI AT Al AT
(4) TS TEEIE AT ZEEEIE & e

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13883]
2 [Option ID = 13884]
3 [Option ID = 13885]
4 [Option ID = 13886]

AW N =



40) Match List | with List Il :

List I Listll

(Days Celebrated) (When)

(A) Earth Day (I) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (V) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(l), (C)-(1), (D)-(IV) ~ (2) (A)-(IV), (B)-(llT), (C)-(1), (D)-(II)

(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI)  (4) (A)-(IV), (B)-(ll1), (C)-(I1), (D)-(1)
FHt-1 % =19 g=-11 =1 feem =it

-1 TA-11
feam faeft
(A) wi-TEm O 24 sH=A
(B) @ Tg @ e 1D s
(C) iR fem () 24 wFeR
(D) g Fem fam Iv) 22 =i

= o U faereTt | © wE 39 R =99 Shifaw

(1) (A)-(D). (B)-(IID). (C)-(II). (D)-(IV)

(2) (A)-(IV), (B)-(I1D), (C)-(I), (D)-(1I)

(3) (A)-(ID), (B)-(IV), (C)-(D), (I)-(I1T)

(4) (A)-(IV). (B)-(ITI). (C)-(II). (D)-(T)
[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13887]
2 [Option ID = 13888]

3 [Option ID = 13889]
4 [Option ID = 13890]

A wnN =




